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‘/‘/ gHTE 1 (Unit 1) 3

ArsieRl d@idA Accounting for Partnership
1. ATSIGRT BAl &1 IrERYa Rigra

Partnership fundamentals

1 3id ® Y (1 Mark Question)
gl faseq ESEQ foRee  (Choose the right option)

1. BT FIAT B ATl FEER) Y H ARl B Ifhay Gam gl 2 |

a) 20 b) 15
c) 10 d) 379 9 P Tl
Maximum number of partners in a partnership firm performing banking business is:
a) 20 b) 15
c) 10 d) None of these
2. PR fAeg & v § T R AT &I &) BT B |
a) 10% a1 b) 5% arfy®
c) 6% darfi® d)15% arf¥®
Interest on loan is given in absence of partnership deed: \/\
a) 10% p.a. b) 5% p.a.
c) 6% p.a. d) 15% p.a.
3. WARIERN o™ & Ma H & &1 9o 81ar € |
a) SRTER AT H b) YST & I urd
¢) faf¥= argumar # d) 38 9 PIs &l
Profits shall be divided in the absence of partnership deed:
a) In equal ratio b) In capital ratio
c) In varieties ratio d) None of these
4. HH & ToTQ SMERV R A 7 |
a) Y b) B 2
¢) o d) S8 ¥ BIS T8l NG




Interest on drawings to firm is :
a) Expenses
c) Profits

b) Losses
d) None of these

5. Arsen! ®BH b iffgd & sfadd amdr 2 |

a) YR ATSER! AfATH 1932 BT ORT 4
b) HU ATSIERI MR 1925 BT &RT 5

c) US \TeIer SrfrfaH 1932
d) STH 9 Pig T8l

Which act is applicable for partnership firms:
a) Section 4 of Indian Partnership Act 1932

c¢) US Partnership Act 1932

b) Section 5 of Companies Act 1925
d) None of these

ferferRad & o1 W AR & 81T 8 |

a) dUTNd ITa
c) IIHaT i

Which of these is the feature of Partnership:

a) Legal business
¢) Unlimited liability

YREISE!
d) 4T

b) Operation
d) All

AT qRcg |rsier A fba sfafem & 9 84 uR gal—

a) AT AEIeR srfarfeas 2008

¢) YR ATIER) Irfarfe 1932

b) RATHT TSR M= 2009
d) $TH 9 DIg TEl

When was the limited liability Partnership Act passed

a) Limited Partnership Act 2008
c) Indian partnership act 1932

Partnership is formed by.............
a) On paper
c) Law

b) Unlimited partnership act 2009
d) None of these

b) BRR AT FAHSI

o

d) S7H W PIs A8

b) Contract or agreement
d) None of these
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9. AR ST 81 HAHdT © |

a) HIRg®d b) forfe
c) Aig® orr forRRed e i d) S8 I PIs &l
Partnership agreement can be:
a) Oral b) Written c) Oral or Written d) None of these
10. WAEERI & Yol WA R <l &1 $fse fbar Siar g —
a) o™ B+ a3 b) ATSIERI & Yuil @Id o
c) ST W | d)
Interest on capital of partners is credited to:
a) Profit-loss a/c b) Partners capital account
c) Interest a/c d) None of these
11, ARIER & Yoll TR &S] @l T[0T Bl 2 |
a) URY BT Yoll W b) 3fd dI goil WX
¢) 3Id Yol R d) 379 & PIg ol
Interest on partners capital is calculated on;
a) Capital in the beginning b) Capital at the end
c) Average capital d) None of these
12. U AT ARIGRT H AISIGRT @ 3fferhad W1 81 Hhdl & |
a) 15 b) 2 c) 45 d) 50
In an general partnership maximum number of partners can be:
a) 15 b) 2 c) 45 d) 50
13. WIEERT el Bl............. HET ST 2 |
a) ATSIGNI J0R b) RS
c) AR fdorg d) BT eI
Partnership deed is called.....
a) Partnership paper b) Registered
c) Partnership agreement d) Company records
14, AIEIGR & Yoll WA & Ifcid A 2 |
a) URTcTele goll b) IR Yol

¢) uRacieliel qm el yofl gl d) afddeTd goit

)

&/

o

o

%///



15.

16.

What comes under partner’s capital account?

a) Fluctuating capital b) Fixed capital

¢) Fluctuating & Fixed capital d) Personal capital
ari—gTf fafraes @ g Tl &—

a) SfdaTd @rdr b) arfad @A
¢) STHATE BT Wl b) STH | P I
Profit and Loss Appropriation accountisa...... account

a) Personal account b) Real account

c¢) Nominal account d) None of these

ReR Yol @rdr fafyy & Sidvid ARRRI &1 goll Wid W A dfse fhar S
g |

2) TEERT @ gol @y § b) @ BT @ .\
DEASEEIGE:] d) SEERI & =@Te] @ H

The interest on fixed capital account of partner’s under fixed capital method is to be

)

a—%
L

credited to:
a) Partner’s capital Account b) Profit and Loss Account

c) Interest Account d) Partner’s current Account

17. 9IEIER) BH & oY eI SR @rdr @ afee dise d ford) i arel w2

3
M\

a) 3T R 1ol b) Y& M
c) 81 d) A 3R B g
Items to be written on the credit side of Profit and Loss Appropriation Account
a) Interest on Drawing b) Net Profit
c) Loss d) BothA & B
18. AM—T TS @rar i @Td &1 Ok 7 |
a) ATARI QT b) IfdATd W
c) IH—8IM @TaT d) doiv 3fic
Profit and Loss Appropriation Account is an extension of which account
a) Trading Account b) Personal Account
c) Profit and Loss Account d) Balance Sheet ) \\\\\\Qﬂr



19. ATSICR &1 BH I IH= 8Idl 8 —

a) Ydgd Pl b) P BT
c) Uuie d) #fetd
Relation of a Partner with the firm is of :
a) Manager b) Servant
c) Agent d) Principal
20. @Te] @Al & —
IESUGREIG]] b) RS @Il
¢) STHHE Tl d) 379 9 @I T8 |
Current account is -
a) Personal account b) Real account
c¢) Nominal account d) None of these

1 3fd D Y (1 Mark Questions):
frr=ifea gol @ Sax oo (Answer in one word/Sentence) -

1. %4 59 pd 2 ?
What is a firm ?

2. RGN BT Goig If-ard 2 a1 ufed | \/\

Whether registration of partnership is compulsory or optional?

ARRRI & 9e @ $H9 991 Id 8 ?

When is Partners current account prepared?
4. AEIERI fdoRg & M H FO R AN & &% o= 8l 8 7
What is the rate of interest on loan in the absence of partnership deed?

5. AEeN fdokg & 3v1d § o9 &1 favre= e YR gar g 2

How is profits divided between the partners, when the deed is silent?
6. TH ® foly IMER0T R ATl AT © 7
What is Interest on drawings for the firm?

7. BH ¥ I ArsieN 8 Adhdl § ?

Who can become a partner in the firm?

o
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{f 8. U Arsier) ausiar foRaa & waf g1 =nfae ?

Why is it necessary to have a written Partnership deed ?

9. T HH & oMl N TG BT YAY fIam ST Adhar € 3R T 98 BH
fEATg—fdhrg ol gede! &1 e &R Fahdl B ?

Can a minor be admitted in firm to share firm’s profit and can he inspect the books of

account of the firm?
10. ®Is UH aRRIRY gamg, {599 AEerr @ Rer 4o uRafda 81 |adl 7 |

Write any one condition in which Partners fixed capital changes.

1. IS e & ugdl T afe v Rer I &1 mevor B &, s forg
3MERVN R &A1 YRGS g 1 @Sy J- SR 2

How will you calculate Interest on drawings, when fixed amount is withdrawn at the

)

beginning of each quarter ?

12. B gRT AEER & Yol IR 1ol &e &3 Srar g 2

When does firm gives interest on capital to the partner ?

&/

13. Udh BH ¥ AEGRI B FAdH Gl Bl HHT T 3 |

What is minimum limit for partners in a firm?

14. BY P IIA™T D FATT H DI 9T of Fhdl & ?

Who can participate in the business operation of a firm ? \/

15. ®¥H & el # B9 ARIGR B Yoil QAT 927 el @i W1 @il Sirer 872

When does partners capital and current account opened in the books of the firm.

3 3fd @ AGIfdd IIT  ( Theory question)
1. WEIERI &1 a9 faRay

Define Partnership.

2. IEERI BT BIs a9 faRvaw IHsmey |

Explain any three features of partnership.
3. gAGH A B TRST B ol fhd ysR fHar Siar g ?

How is guarantee of minimum profit recorded in partnership?

&

4. ISGRI & 9T W A AT RIT FHSA & 2

%/T

What do you mean by partner’s current account?

8



AW T B ™o STl & AR fhar Srar © 2 quid o |
Why profit and loss appropriation account is prepared? Explain

I Hel B Al 990 Sl & U HISIGR & WAl & A T S 1 H STell
S E — i) 99 goll ReR &1, i) 99 Yol eiiRer B |

List out the items which are debited and credited to Partner’s Capital Account when

the capitals are: i) Fixed, ii) Fluctuating

R AEIGRT BH BT JIH q91i+e ARTd o 87 FHsIey |

Whether partnership firm has a separate statutory entity? Explain.

40 AT BT TSI ATEIGR BH g9 1T 2 | I 3TaeT gRrel amed
2 & arEer # iffean v fras @fdd & 9ad § ? I8 yrauE
s # fm wrar 2

A community of 40 persons want to form a partnership firm. They want your advice
as to what is the maximum number of members a partnership can have? In which act
this provision is given ?

Yl AT I U BH H ARIER & | 9 3R a1 Fawl bl BH H Aeferd
B TS T | IATATD B Al 3R BIA—DI A AfKT ATHIGRI H el
gy el 87?

Gupta and Sharma are partners in a firm. They wanted to admit two more members in

the firm. Other than a minor, who are not eligible to enter into a Partnership?
ArsieR) fdekg @r g ? g9 <1 |

What is partnership deed? Give its definition.

4 IPH D AGIaPd YT  ( Theory question)

ATRER & R—T IfTHR 80 § ? fhal IR &I 9SSV |

What are the rights of a partner ? Explain any four.

T TR YR AT o9 & e § a7 3fa] 2 |

What is the difference between Charge on Profit and appropriation of profit ?
AT BT @I AT A 81 e @ # iR T Iy |

Explain the difference between Profit and Loss Account and Profit and Loss

Appropriation Account.
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4. Rer golt g gRad=ele goft # iR xSy |
Explain the difference between fixed capital and fluctuating Capital.

5. WISIGRI Holkg & IFHd H TN 811 dTel M @] ReT SHIfY |
Explain the rule applicable in the absence of Partnership deed.

6. WISIER! AW &I 91 AMYR &, $Hd Y4 dcdl bT qui BIfoTy ?
What is meant by Partnership deed ? Describe its main elements ?

7. RN & fA9dRt @ 9d=v| (P 9R)

State the characteristics of Partnership (Any 4)
8. T WIHGRI BT Gollg- &A1 A & ? Ui F8l & &l a1 J91 G

gedl & ?

Is it compulsory to register a partnership? What are the effects of not registration?
9. WEERI & Yol @hl # Yol Rl & ol &9 AR =7 fHar smar g 2
When and why are the past adjustments accounted for in the partners capital account?
10. WISIGRI H o™ &1 TRET A &7 3R & 2 U Hd <f SRl © 7
What is meant by guarantee of profit in partnership? When it is given?

11. ®Y ¥ AR 89 & foTU |1 Irgdr g anfeu ?

What are the qualifications to become a partner in a firm?

4 3fd & fHATHD YT (Practical question)

1. Gl 3R T o™ B &7 3T 3:2 & 31gurd § &_d &, Sl 1 S a]
2021 ¥ AR 21 59 fafyr &1 9 3fddr &1 1 /10 o 97T & forw ®H
H AR 91 & | I8 TR &1 Il & &b 31fder &l Ul a9 &8 I HH
26,000 M & w9 H Aenl | GAleT iR AMT BT URIR 3T Ydad <l
ST | 99 § ®H BT T 40,000 HI AT AT | ATH—TI WTAT IATHY AT
EZRECRUBCNIF

Sunil and Seema share profit and loss in the ratio 3 : 2, who are partners since 1st

January 2020. On this date they make Avika as a partner in the firm for 1/10 profit. It
is guaranteed that Avika will get at least 2.6,000 as her share of profit. The ratio between

Sunil and Seema will be kept same. The firm made a profit of 240,000 in the year. Show

the distribution of profit by preparing profit and loss account.

10
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1 SIFERT 2021 DI 3 3R  FHM: T 1,00,000 3R 2 1,20,000 BT Yol A
ARIER 21 ST 3T o1 7 BH Bl 245,000 BT k0T 37 S a¥ BT o™
345,000 T | WSIGRI AHSI & 3@ H MY ARIGRI & &M &I a9
fhd TR BN, 4 B @1dT g1y farsy |

A and B are partners on 1% January 2021 with Capitals of ¥ 1,00,000 and X 1,20,000

respectively.On the same date A gave a loan of X 45,000 to the firm and the profit in
that year is X 45,000. In the absence of partnership agreement, show how you will divide

the profits of the partners. By preparing profit and loss appropriation account.

Th ®H H X, Y 3R Z AEER § S oM 814 3:2:1 & b U qicd
21Y Bl 42,000 A da- T Z & Het 98 S % 12,00,000 B, A
R 3% HHYE &A1 S 81 BH 7 9 2021 H FHol [P W 10% A
ST fbar | ®H &1 o B RIS @1 915U |

In a firm X, Y and Z are partners who share profit and losses in the ratio 3:2:1. Y is
given an annual salary of X 42000 and Z is given a commission of 3% on the total sales
which is 12,00,000 .The firm made a profit of 10% on the total sales in the year 2021.

Prepare profit and loss appropriation account of the firm.

X, Y 3R zZ U% ®H H FHAA : T 50,000, T 30,000 T T 20,000 Ysil &
ARIER ¢ | ARER Jo¥ & IUR YAE ARIER & gofl ) 5% difid
TS f&AT ST TAT % 1000 a1 I AT ST | g AN & U %
5000 T ITROT BHIT 40%, 30% TAT 30% BT &R F BRM AR Y AL BT
RIER—RTGR TSI BT | TS TAT I+ & & Yd BH BT o™ 25,000
o | o™ BT T amar a9y |

XY and Z are partners in a firm with a capital of ¥ 50,000, ¥ 30,000 and X 20,000

respectively. As per the partnership deed each partner will be given 5% annual interest

on capital and salary of X 1,000 per annum. First ¥ 5,000 of the net profit will be
distributed at the rate of 40% 30% and 30% respectively and the balance amount will
be distributed equally. The profit of the firm before paying interest and salary was X

25,000 . Prepare profit and loss Appropriation account.

11
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AT IR GHAT oRg=ss H ST & Fadd H 21 § W die 8, 5
ARG AR 4 ARG BYY Yoil DR FISIGR g | 3ffIal gRT = IRl o1
TExT febar 1 —

1 379l 9,000 . 1 S % 8,000

1 SgR X 12,000 1 famR % 16,000

G 7T % 16,000 3, JATS, AFCIR 3R SR & YA fad bl U
AN & BRI Bg Mdbrel | S99 20,000 UfGATE ®H & by fhrd
2 gV | SMMERVT W AT B TUAET 6% P.A. TR 31 ATH 2022 BT BI |

Anita and Sunita became partner in a drywash business in Lucknow by investing 5 lakh
and 4 lakh and sharing profit in the ratio of 2:1. Following amounts were withdrawn by
Anita

1st April ¥ 9,000 1st June X 8,000

1st November X 12,000 1st December X 16,000

Sunita withdraws for paying rent of her residence X 16,000 on the first day of April,
July, October and January. She also pays X 20,000 per month for her office rent.
Calculate interest on drawings @ 6% p.a. on 31st March 2022.

X, Y AT Z 9 01.04.2021 DI AR YR Pl | IAHT AT AU
433 8| X 7 AT ©U A Z B TR & ¥ fF ol R 5% arff®
TS SR & d1Q IADT AT BT HRT X 40,000 H HH [hdT Y af # =2

ERM | S9! Yoil HH: ¥ 3,00,000, ¥ 2,00,000 TAT X 1,50,000 & | 31 AM

2022 BT FHAT B9 dTel 9Y¥ BT T T 1,60,000 2T | 1T B =TS9 1T
g4 g?jl

X, Y and Z started partnership on 1st April 2021. Their profit sharing ratio is 4:3:3 .X
personally guarantees to Z that his share of profit will not be less than 40,000 in any
of the year after charging 5% annual interest on the capital. Their capitals were X
3,00,000; ¥ 2,00,000 and X 1,50,000 respectively. The profit for the year ended on 31st
March 2022 was X 1,60,000. Prepare profit and loss appropriation account.

12
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AT QAT AT T BH | AI8IGR €, ol 211 § av—2I dfed | 39! goil
HHI: T 20,000 UG X. 10,000 & | FHSII & JIAR IAD! &Y dfc & Yd
GSll TR 5 % TSl fefdl © | &9 o & Yd ay H % 9,000 P 9 BaTT |
AT BT fI9TST @rdr 9918y |

Rama and Lata are partners in a firm sharing profit and losses in the ratio of 2:1. Their

capitals are respectively %.20,000 and X.10,000. They are entitled to get interest on
capital @ 5% per annum. Before charging interest the firm earned a profit of .9,000.

Prepare Profit and Loss Appropriation Account.

AT, 919 UF AT 01.04.2021 BT UH JIH 2g ATEIGRI HH I dd
2| S/ BHI: T 50,000, T 40,000, X 30,000 Goll @ ®Y H Y 3R
321 @ U H M I T B 9RER & fIv wewa 2 ffa @
gferTE 21,000 909 @ 9 H QT § TAT 919 DI UfTay HARM & T H 2
5000 <F 2 $9@ A1 Ig A U9U™ © b golt &R 6% ufay & «® 4
TS < BNTT| 39 99 & MRVl — I7AT % 6,000 919 X 4,000 TAT AT I
2,000 T | JMMERVI R AT & ®Y H AT F % 270, 919 F T 180 TAT ARG
A 290 YWTRA by U & | M BIN Wi & IR Yg o™ 31.03.2022
@ FHEIMG R X 35,660 © | WISIQRI & dd o™ g4 faaror &1 i@ 2q
A U BN ARG Wl IR BTy |

Amit, Babu and Charu set up a partnership firm on 1.04.2021 for a business. They
invested X 50,000, X 40,000 and X 30,000 respectively as capital and they agreed to
share profit and losses in the ratio of 3:2:1. Amit gets ¥ 1,000 as salary per month and
Babu get X 5,000 as commission per annum, along with a provision that interest will be
allowed on capital @6%p.a. Drawings during the year for amit ¥ 6000, for Babu X
4000, and for charu X 2000. Interest charged on their drawings were X 270, for Amit,
X 180 for Babu and X 90 for Charu.Net profit as per profit and loss account at the end
of 31st March 2022 is X 35,660 . Prepare Profit and Loss appropriation account showing
distribution of profit among the partners.

X TAT Y 1 01.01.2021 A AHGRI YRH &I AT Y& I % 1,50,000 B. Yol
& ORI | 01.04.2021 BT Y AR goll & w9 # % 1,00,000 3R QU
ST 20T AT SR | 31 faqwR 2021 &1 FH1 819 dTel 99 H goll W)
Tl o1 @ Yd BH DI oA % 85000 AT| YD AISIGR Bl X 3,000 Ul

13
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AR a9 U BT BT JATBR B IY H, UJd AEIER F T 24,000

JMERA BT | 31 fEHRR 2021 B TG B dTel 99 HT ™9 B TS
LCISICEIEDE

X and Y started partnership with effect from 1st January 2021 and invested X 1,50,000
each as capital. On 1st April 2021 Y introduce X 1,00,000 as additional capital which
will be treated as loan. The profit of the firm before paying interest on capital for the
year ending 31st December 2021 was X 85,000 . Each partner is entitled to receive a

salary of X 3,000 per quarter. Each partner withdrew X 24,000 in the year. Prepare
profit and loss appropriation account for the year ending 31st December 2021.

10. 3TeMep, FoIel UG WAL, U BH ¥ 22211 & JUTd H 9 G BT BT faTer
PR BY WISIGR B | AP Td oIy g TRS! od & fdb A &l fbedl o1
gy % 20,000 ¥ HH A9 TSI f&AT ST | 99 & 3fd H 31 HE 2022 D
foTg orT &1 IR % 70,000 BN & | &9 Ud 811+ fAfRINT War SR oy |

Ashok, Brajesh and Sheena are partners in a firm sharing profits and losses in the ratio

of 2:2:1. Ashok and Brijesh gives guarantee to Sheena that in any of the year her profit
would not be less than X 20,000. Profit during the year 31st March 2022 is X 70,000.
Prepare Profit and loss Appropriation Account.

11. A T B BH ¥ HEER & | 31 AR 2021 &1 3901 Yol HHL: T 72,000
qAT 2. 54,000 T | a9 H IAD IMMEVT HAI: X 12,000 TAT T 18,000 o | Ysfl
R IS &1 & Jd %H Bl 99 H T 48,000 BT & B3| 31 faHq=R 2021
DI FAT 99 @ oIy Yol UR TSI I 0T 10% TS Bl &R F DI |

A and B are the partners in a firm. Their capitals as on 31st December 2021 were X
72,000 and X 54,000 respectively. During the year drawings made X 12,000 and X
18,000 respectivity. Before giving interest on capital profit of the firm is X 48,000.
Calculate interest on capital @ 10% p.a. for the year ended 31st December 2021 .

6 3w & feATHD YT (Practical question)

1. M Ud W 53 & oy U ®H H AEER 2| S9! R Yol 1 31iid
2021 I % 70,000 3R 90,000 T | oIl WR =TSl 12% a1 &I &= A faar
ST © 3R SMERY R AT 15% a1 a1 &= ¥ foram e g1 31 A4
2022 BT SWIK FARISH & Yd HH B ™ T 12,600 7 |

14
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T

qY T ITENUT — 9 T 2,000 3N TIH % 4,000 |

AT—BI TR Wl 99150 | BrIfAR B T SIS | goll IR e
B @1 Reafcy o1 e S 7 |

Ram and Shyam are partners in a firm for 5:3 ratio. Their fixed capitals as on 1st April
2021 was X 70,000 and X 90,000. Interest on capital is given @ 12% per annum and
interest on drawings is charged @ 15% per annum. The profit of the firm before the
above adjustment as on 31st March 2022 was X12,600 . Drawings of Ram % 2,000 and

Shyam X 4,000. Prepare profit and loss adjustment account. Explain the procedure if

interest on capital is also to be paid in case of loss.

A, B, C Td D FHM HIEIGR & | 1 Sa¥l 2021 B I9D! Goll & AT FHH:
% 4,000, 6,000, 8,000 TAT % 10,000 U | I¥ 2021 & WKI I 3R I
B B dIE IdT Fell b ARl Se)d & AJAR M e | g9
AEIERI @ Goll W 5% d1YH B &R ¥ 1 Al <F AT, 98 398 Yol
GTdl W ST 81 fhaT T |

AERR # g8 freey g f& fUes o uRafidd & & I\ W erTd
99 & YRS H Udh Sel Uidite §RT AHRISH ) &7 Y| Jraedd
S wfafte aIfoTg |

A, B, C and D are equal partners in a firm.On 1% January 2021 their capitals were
X 4,000, % 6,000, X 8,000 and X 10,000 respectively. After closing the accounts for

2021, it was, however, revealed that interest on partner's capital @ 5% per annum

could not be credited as was provided in the partnership agreement.
It was decided to rectify the error by passing an adjustment entry at the beginning of

next year instend of revising the Balance sheet. Give necessary adjustment entry.
Frifha SNl § 12% d1N® &1 &% | SMERVI UR TSl Bl ITUMT DHITSTu—

i, UADG HE D URA H UfHTE T 1,000 99 HR IMERVT fHY |

i. UG ATE B 3fd H URHIE 1,000 99 W SMERT fHY |
iii. UID ATE B AT H U 1,000 99 W SAMERT B |
Calculate the interest on drawings @ 12% per annum in the following cases-
I. X 1000 are drawn on the first day of every month throughout the year.
ii. X 1000 are drawn on the last day of every month throughout the year.

iii. ¥ 1000 are drawn in the middle of every month throughout the year.

15
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el Td wHel Ud BH § 211 & GUTd & T @ BT IO @ ATRIeR
2, S YSIl HHI: T 80,000 TAT T 50,000 & | 9Y @ QR AT T 45,000
2| AEER fddg & S faR Tl WEeR d9d9 & oY Igad & foraH
e 2 700 Uf WE IR @A @ % 500 UhHAE U BN 2| 99 @
FHIGT WX JATEROT fIHAT I 8,000 TAT HHAT X 7,500 & | 3SR WR 5%
BT D R FTol GHTR BIcl © | FISIGRI DT AT B FHR—IST STl
vd Yo @rar IR &Y iR A dR Fol d Yol iReR B |

Vimla and Kamla are partners in a firm sharing profit and loss in the ratio 2:1, Their
capitals are X 80,000 and X 50,000 respectively. The profit during the year is X 45,000.
As per the partnership deed both the partners are allowed salary in which Vimla gets

X 700 per month and Kamla gets X 500 per month. Drawings at the end of the year
were 8,000 for Vimla and X7,500 for Kamla. Interest charged on drawings @ 5% p.a.
Prepare Profit Loss Appropriation Account and Capital Account of the partners
assuming that the capital are fluctuating.

M, AIEH dAT YT S % 50,000, X 30,000 AR T 20,000 HI Goll &
AEIER 2 | ATEIER Wl @ TR Yol &R 6% e <l faam S,
feb~ ATEROT UR BIS &ATST el forar QT | ASIER BHI: 3:2:11 B T
# g dfed 81 MUTe &1 % 5000 Uhoay dad feam o | ¥ #
I8 %6,000, T 5,000 AT % 6,000 bS] [FhTel, ABA 7 T 2,000 B AT
&1 A7a forar | ! geaei § a3 ufafte T8 @ 8 | 9d4, el an
ATSl T @l &R & Yd g9 2021 BT &9 60,000 o |

ARRGRI & e WA g BH BT AH—aI FTdT I8¢ |

Ram, Mohan and Gopal are the partners. The capital of partners are ¥ 50,000, X 30,000

and X 20,000 respectively. As per partnership deed interest on capital will be allowed
@ 6% p.a. but no interest will be charged on drawings. They divide the profit and loss
in the ratio of 3:2:1. Gopal will get salary X 5000 per year. The partners has withdrawn
% 6,000, X 5,000 and X 6,000 respectively. Mohan has withdrawn goods from the firm
worth X 2,000 which is not recorded in the books. Before recording salary, Interest
and the drawings of goods the profit was X 60,000 for the year 2021.

Prepare the current account of the partners and profit and loss appropriation account

of the firm.
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Aol Ud ST 32 @ STgUTd 9§ oM @ SMER R AEIGRT &R & foraH
ITM FHL: T 1,00,000 AT X, 30,000 T & | YSIT TR 6% I a1 &%
A 1ol JAIRT BRAT T © TA7 a5 T 9a & wu H % 5,000 Ufay
T FFAT 2| aY 2021 B IR [AGF BT Id9 bl & a8 oA B
IR 2. 24,500 I 2| SHH T @I ART BT 5% 9N HHIIE & T H
FIoR @ <F | M & QWIS &1 S aTell @1ar dol AReRT @l
ISl T IR & |

Sanjay and Vijay are in partnership sharing profit in the ratio of 3:2 in which they have

invested capital X 1,00,000 and X 30,000 respectively. It is decided to charge interest
at the rate of 6% per annum on capital and Vijay is allowed X 5,000 per annum as
salary. After charging Vijay's salary during the year 2021, the amount of profit comes
to X 24,500. In this, 5% of the profit amount is payable to the manager as commission.

Prepare an account showing the division of profits and the partners' capital account.

9 9 fIw] T BH H ARER & | 1 Sal 2021 DI ITb] Yol BHI:
325,000 3R 20,000 | I Yol W 8 % Ufay & <X & <l X e
g T 9D IMERVN R 12% Uiy TSl T Sl 2 | 99d « 1 Sfells
2021 BT % 10,000 BH Bl T & WU H QU | 4w 2 5000 aTf¥H AT BT
PR € | S SMMERVN UR TS BHL: X 600 AR T 500 AT TAT| 31
fQEaR 2021 @I GHIG B9 dTcl 9Y &I ™ IUgdd FHIIGHE & Jd X
25000 oT| 9 2021 & M-I FHARIGH @Al AR ARIGRI BT goll
[CIRIRCRIENY

Basant and Vishnu are partners in a firm whose capital on 1% January 2021 were
25,000 and X 20,000 respectively. They are allowed interest on capital at the rate of 8%
p.a and interest on drawings is charged @ 12% p.a. Basant gave X 10,000 to the firm
as a loan on 1 July 2021.Vishu is entitled to receive an annual salary of X 5,000.Interest
charged on their drawings were X 600 and X 500 respectively. The profit before making
above adjustments were X 25,000.

Prepare Profit and Loss appropriation account and partners capital account for the year
2021.
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3 3R g Yeb BH H ASIGR &, S AM—8I+ IRT6R U | died & | I
IR Yol HAYE % 80,000 3R T 60,000 T | IY 2021 H Yo WR AN 6 %
D WM W 5 % ® & 9 Bfsc fHar mar| FE & IR g AHR>ISH
yfafie Afsme |

A and B are partners in a firm distributing profits equally. A and B’s fixed capitals are
X 80,000 and X 60,000. For the year 2021, Interest on capital is charged @ 5% p.a.
instead of 6% p.a. Pass necessary rectifying journal entry.
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i‘f 2. &HIfd — Yoid Ud Jedid-
Goodwill- Nature and its valuation

1 3% & YT—
gl faseq gInX foRee  (Choose the right option)

1. |AIS oI I 8 —
a) Iz DI I dTell =T Bl b) foeell @1 awTa aTell T @1
¢) Bl DI I dTell AT B d) T BT
Highest value is fetched by

é..%::,’ a) Rat goodwill b) Cat goodwill
- ¢) Dog goodwill d) All of the above

2. T g —
a) U ol Hulcd b) Ueb IS Hufed
¢) U Tt Hufed d) TP G wafcd
Goodwill is said to be a:-
a) Floating asset b) Fixed asset
c) Tangible asset d) Fictitious asset

3. foaer g @nfy | A6y T8 T 8- \/\
a) T @I b) faeel &1
¢) Bl BT d) IR BT
Which is not related to nature of goodwill-
a) Rat b) Cat
c) Dog d) Tiger

4. IS BT 37t B
a) | A/ IU DI FEAT b) 3IHT ATH—HTHIRI A
¢) 9TRd d) 39 & Pig T8l
Super profit is-
a) Total profit/ Number of years b) Average profit - Normal profit o2
¢) Weighted profit d) None of these é\>\\\\\\+
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I R 3™ —
a) =Y Hufeadl @7 Hifd AT S ©
b) ST & W BRI AT Sl &

¢) &l SR ST ©

d) /91 <X 9 B9 T oI ®

Depreciation on Goodwill is

a) Charged like other assets b) Charged at high rate

¢) Not at all charged d) Charged at low rate

AU S HIcd~Ieh 81, dfcdh M 2 AR SADI ANdD oI & —
DENIBE JREN ¢) BrITeR d) AT
An asset which is not fictitious, but intangible and have realisable value is

a) Machinery b) Building c) Furniture d) Goodwill
31T BT 3ref 7 —

a) AT o™ & &H b) AT T ¥ 31ferd

c) i Ad <4 d) 7H & PIs &l

Super profit means

a) Less than normal profit b) Above the normal profit

c) Average profit d) None of these

AT AT @1 U R 9, O 9y @ ' B~

a) SISl ST @ b) TCTAT ST &

c) BB I &I fhar ST d) &1 R g™l SIar @

In the calculation of average profit ,past years losses are

a) Added b) Subtracted

¢) Nothing is done d) Subtracted twice

ST =T T gl ¥ 8T fT@r Srdl, el § —

a) It T b) f @ty

¢) Tty d) A =t

Goodwill which is never recorded in the books are called

a) Intangible b) Tangible c) Self-generated d) Fictitious
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1

3p & YId —

f=fea U‘Fﬁ $ SIsvkd dIRﬂQ Answer in one word/Sentence -

&

I & goftawor fafd 31 =t @) 0T e IR @) Il © 2

fhd ¥avTa aTell T &7 Hod | $HH Bl 2|

Which type of goodwill commands the lowest value?
AMTT o R R a9 &7 e 8T €, 98 FHEadl 2 |

What is the excess of actual profit over and above normal profit called?

e g H A dol R U @ &R B 9T $HEl A § 7

What do you mean by rate of return on capital employed in a business?

How the Goodwill is valued under the capitalisation of average profit method?

AT AT PR BT qF faalRay |

Write the formula of calculating super profit

U BH P W DI W 59 UbR yqdd ol & 2

How the Goodwill of a firm is affected by location ?

Teh g MU gqd &l Jor-l H Ugel 9 (I Faarg ol i o
INTT B H B AT Tcd Te-d aidl ¢ | \/\

Name the factor which enables existing business firm to earn more profit than newly

set up firm.

iy fhd bR & gufeg g ?

What type of asset is goodwill?

T & JoAid &I AR FIT 8 7

What is base of calculation of goodwill ?

&

4

S

////.
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{{ 3 3® ® AGIfdd YT (Theory question)

1.

Ty a1 gRaTeT forRag |
Define goodwill
"Goodwill is an intangible asset” Explain

arfdrerr fafr 9 wfa &1 ToHr & 43 faRay |

Write the formula for the valuation of goodwill under super profit method.

Iy B UBfT B FHIISY ?

Explain the nature of goodwill.

TP AEIER BH H @i &7 qeaie e uRRefoal # fsar Siar € 2
In which circumstances goodwill of a firm is required to be valued?

T T J9Tfad D= dTol 3 dedl bl FHSIY |

Explain 3 factors affecting the goodwill.
=iy B u fgwdre @ fafay | (@1 &)

Write are the characteristics of goodwill ? (any three)

4 3d b AgIfAd YT (Theory question)

1.

I fHas UHR & Bl B, FEengd ?

State the types of goodwill and explain them

N & Heuida &1 Al & emen Sk |
Explain the methods of valuation of goodwill

I I~ B & BRI bl FHSY |

Explain the causes of creation of goodwill.

T =T F@1 7 ? 39 fhd dvg wa fhar S 2
What is hidden Goodwill? How it is calculated?

AT AT TG AT H 3R W BTy |
Distinguish between average profit and super profit

3NId T fAfy & IR wIfa & Aot a1 fafy Iarevor Afed ey |

Explain the average profit method of finding out the value of goodwill with suitable

example
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{'/ 4 b & fHATHD YT (Practical question)

1. T Ufd a8f § U BH BT o 39 UHR © : d¥ 2017, 4,00,000 ., a9
2018, 3,98,000 ¥, dY¥ 2019, 45000 . d¥ 2020, 4,45000 %. AR T§
2021, 5,00,000 . |
Ufa aul & 3fNId o™i @ aR 991 & I $ MER W BH DI ST DI
ATOHET BTG ?
The profit of a firm for the last 5 years amounted to X 4,00,000 for the year 2017,

3,98,000 for the year 2018, X 45,000 for the year 2019, X 4,45,000 for the year 2020
and X 5,00,000 for the year 2021. The value of goodwill is to be calculated at 4 years

ﬁ purchase of 5 years average profit. Calculate the amount of goodwill.

2. T ATATRE HH BT Yol 90,000 | WH BT AT o™ 9,000 2| VA
RATAR H 9 % o™ U 2 | AfEA™ & Yoliad A & SR &1
HI IAUET DI |

The capital of a business firm is X 90,000. The average profit of the firm is % 9,000.
The normal rate of return in similar business is 9%. Find out the value of goodwill

on the basis of capitalisation method.

3. U H BT 3Fd g A X 42,000 URTay 2 | AR H AR goil
%2,00,000 2| 39 YR & Fadg # ARG goh W &t 12% 2|

')‘" HIEIER BT % 8,000 aTffe TRsifie faam Siar 2 | @nfa @1 or 2 9

The average net profit of a firm is X 42,000 per year . The average capital employed
in this business is X 2,00,000. The rate of return on capital invested in this class of
business is 12%. Remuneration payable to partner is expected to be X 8,000 per

annum .Calculate the value of goodwill at 2 years purchase of super profit.

4. g8 JFA o7 fb Udh BH 37U % 80,000 B! Yol TR 8 % ol HHTGI] |
e @R a9 &1 aRaIfa®d @™ % 10,000 A 2| ATHER! Hold &
TTAR ATA & & 9§ & HI & IIHR ST Fabrell Sl & | @
P R Fprery |
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It is estimated that a firm make a profit of 8% on its capital of X 80,000. The real
average profit of the last 4 years is X 10,000. According to the partnership deed
goodwill is valued at two years purchase of the super profit. Find out the amount

of the goodwill.

Uh Fadid BH A fUse auf H % 1,00,000 d1fid 3fId o™ I1foid
T | AT & Yofiexor fafer gRT @Tfa &1 Jed 91d Iy SIafd
HH BT HUfeqdl % 10,00,000 BT AT TR STRIE % 1,50,000 & | faF o
Goll TR U & AR &R 10% T |

The average net profit of the a firm is X 1,00,000. Calculate goodwill by
capitalisation of average profit method where the assets of the firm is ¥ 10,00,000
and external liabilities  1,50,000. The rate of return is 10% per annum.

ATT BUEH HH H HHIT: T 26,000 TAT X 18,000 BT Yoll & AT ATRER
21T C B HAH1/5 9 & folg ARIGR &0 21 C Yot & w9 #
316,000 oITQTT | Ul g% @AM &1 IR 1A BIfAT |

A and B are patners in a firm with capitals of X 26,000 and X 18,000 respectively.

They admit C for 1/5 share . C will bring capital 0f ¥ 16,000 . Calculate the Hidden
goodwill.

Th BH DI Yoll 3 aIRg w0 o | 31 fAH=R 2021 &I FATG B9 drel a9
H %H 7T 50,000 ¥ 3ffSid fHar | IHT UHR & Jqard H§ A=
OGSl TR AR U &% 10% & | T &7 &I b) ST & Goliavor
P IR TR dAT b) 9 I & A & BT b AR TR HIY |

Capital of a firm is Rs. 3 Lakh. For the year ended 31st December 2021 the firm

earned a profit of ¥ 50,000. The rate of return on capital invested in similar business
is 10% .Calculate the value of goodwill

a ) Capitalisation of super profit and

b) 3 years purchase of super profit.
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3. AIIENY &1 Yo —fqem= AarsieRl & AT
Jgural # uRad=
Reconstitution of Partnership — Change in profit sharing
ratio among the existing partners

1 3% & Y—
el fadeu gaax fRay  (Choose the right option)

. AT 31gUTd H YRETT & ST H AN B dlel AISIGR B &lfd I gfel ol

ST B

a) ®H gRI b) T R ATRIGRI §1RT

C) % dTel ARIGR §RT d) SWaa f=ll & gRT 2l
The Sacrificing partner, on change in profit sharing ratio will be compensated by-
a) Firm b) All old partners

¢) Gaining partners d) None of the above

. [IeMmM ARRER & URWRES AN AU H URTTT B W FARISH fhar

ST B
a) &I Bl b) T TAT AfId ATI—8I BT
¢) Hufcal e SRl & YHedie T d) Sugadd T4l Bl

In case of change in profit sharing ratio among existing partners, adjustment must be made for-

a) Goodwill b) Reserve. Accumulated Profit and Losses

c) Revaluation of Assets in Liabilities d) All of the above

. BH & YIS | 79 HAISIGR @& &M BT 9T Yd &l T H 98 ST @ 99 dhad

=

a) I%h dTefl \dreiqiR b) AN X dlell HIAIN

¢) J&I AR d) gHTaYUT ATSIER

If a partner gets more than his previous share in the reconstituted firm he is called
a) Gainer b) Sacrificing partner

¢) Main partner d) influencing partner
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4. T AT & AR BH & &b A TSI @rdr adl ST ST 918y S a8

........... el TS B |

a) \afed & b) bs & IMfaRa o= Ufdwa & wU |
c) b H d) =TT |

According to new rules Goodwill should be brought in the books only when it is received......
a) in kind b) in consideration other than cash

c) in cash d) in premium

1 3% & YT —

f=ifed 9ol @ Scax AT (Answer in one word/Sentence) -

1. HEERI 380G # fHar S a1 gRad+ 1 el & |
What does the change in partnership agreement known as?
2. RN W B gAted BN B a1 SO 9Ty |
State any two occasions on which a partnership firm can be reconstituted.
3. A% & IrguTd &I oref AHSIEY |
Explain the meaning of gaining ratio?

4. T HT AT R 8 ?

What is sacrificing ratio? \/\

3 3fd » Agifad®d Y (Theory question)
1. 9% dTel 9T QRT HRA el FAIEIER BT 37 ISTERT 6l AEIdT W AHSY |

Explain with example the meaning of gaining partner and sacrificing partner.

2. ST IUTT | URTaT &R WR @I i FeiRd #1 Sl 87

Why Goodwill is determined on the occasion of change in profit sharing ratio of existing

partners?

3. URRKER BH & e &I aref HHssy |

Explain the meaning of reconstitution of partnership firm.

&

//*
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4 3Hd b AgIfad YT (Theory question)

1.

ARERT BH & gied WR Gulcddl Ud IRl & Jaqedic &1 JATadhdl
Bl ferd H ARAT HINY | (PTS IR)

Briefly explain any four points for the need of the revaluation of assets and liabilities on

the reconstitution of a partnership firm.

NT & U TN % B AU H (AR T DI |

Distinguish between sacrificing ratio and gaining ratio.

BH & e IR i H FATIIGH 3aegd BId o |

What adjustment are necessary at the time of reconstitution of the firm?

AT U H URads B89 R SIIdRT o Ud Hed Bl e JdrR
i fovar Siram 2 | Siqer ufdfte dafead a9y |

How are undistributed profits and reserves distributed among the existing partners in case

of change in their profit-sharing ratio? Explain with journal entry.

4 3PH d fHATHD YT (Practical question)

X,Y 3R Z U BH H 22211 & IIGUTd H AISIGR & | I8 31U+ o B Pl
Hfasg # 3:2:2 & UM H B T Feay fHar| o o =i w1 gedina
340,000 ¥ | Y¥Id! # faee AT 220,000 B | SMATIG ST o BT |

X,Y and Z are partners sharing profits in the ratio of 2:2:1. They decided to share future

profits in the ratio of 3:2:2. Goodwill of the firm was valued at X 40,000. Goodwill
already appeared in the books % 20,000 .

Pass necessary journal entries.

AR B UP BH H 311 & Ul H AEIER & | I6T fIToT 31.12.2021 Bl

= gpR o1—
A and B are partners in a firm in the ratio of 3:1. Their Balance Sheet as on 31.12.2021

stood as under ;-

fIear (31.12.2021%1)
Balance Sheet(As on 31.12.2021)
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o &~ b

AR AN

S (Liabilities) RUETES et Py 3
(Assets)
FER (Creditors) 28,000 |d® H AdS | 50,000
<g fdgx  (Bill| 40,000 | (Cash at bank)
Payable) <R (Debtors) | 60,000
e Jad 2,000 @ (Stock) 40,000
(Outstanding salary) IA(Plant) 1,00,000
ol (Capital) 9@ T 9ad 1,50,000
(Land& Building)

T A 200,000
B 1,30,000] 330,000 N

4,00,000 4,00,000 .'.I p

SBIM 3O AT 31U # gRadH & @ fgea fhar ofik wiasy o
RTER 31T H & BT @l dic &1 i forar | w4 # fr=ferRad aames
T

. TF BT I % 1,30,000 TG € |

I g 999 BT eI X 1,57,000 IGT 2 |

ih BT Jed fes # 26,000 Afdd ST 47 2 |

SIERI WR AW FOT W 5 % IS HRAT © |

34500 @ MR fIee ¥ 81 fa@r M g fS9a@ e &1 9 2 |
qTHII ] Tl 9915y |

M\

They decide to change their future profit sharing ratio and decide to share equally.
Following are the adjustment

Plant will be appreciated to % 1,30,000.

Land & Building will be appreciated to X 1,57,500.

Stock is overvalued by % 6,000.

A provision for bad and doubtful debts is to be created @ 5% on debtors.

Creditors of X 4,500 not shown in the books are yet to be paid.

Prepare Revaluation Account.

s
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6 3® ® fHATHD YT (Practical question)

1. A B TAT C UPh BH H P 532 & AU § AEER 2| 1 SR 2021 A
I YA JAJUTT FaADBR 2:3:5 G BT [0 B & | 31 fa@=R 2021 BT I
feres # e gaem & g 7 -

A, B and C are partners in a firm sharing Profit & Loss in the ratio of 5:3:2. They decided

to change their profit sharing ratio to 2:3:5. Their Balance sheet show the following

informatior :-
TR (Liabilities) 1 2| AEfeRt (Assets) RUEUE
faf T Semaas da 3,000 | fafEmT (@mmad w) 40,000
Investment Fluctuation Reserve Investment (At cost)

qarsy fob fe=ifcha qemall 3§ %A o1 Y&l § FI—RT Si-idl gfaftedl srii—
What journal entries are to be passes in the following conditions:-

1. 919 fAfFERT &7 IR Jed dRTd & SRIeR & |
When market value of Investment is equal to its cost.

2. 19 fAfNT &1 99TR o wU 38,000 & |
When market value of Investment is 38,000

3. o9 fAfT &1 99TR o FUA 41,000 B |

When market value of Investment is 41,000

2. A/B3RC U® BH H AEIER T Sl 432 & AU H o —8T+ BT IS
TR & | I/ 1 3 2020 H AT AN U H died & v
BT | Sa Al T ®BH B Y&debl H A FaF 1,80,000 %, HHAR &Tfcryfel
HIY 60,000 %. AR AH—BI WA DI BST AT 45,000 . o7 |
SWRIGT A&l DI AEER & Yoll @RI H SWIARU dRd §J o-idd  yfafeedr
PHIFTY |

A, B and C are partners sharing profit and loss in the ratio of 4:3:2. On 1% April, 2020

they decided to share profit and loss equally. On that date books of accounts show
% 1,80,000 in general reserve , ¥ 60,000 in workmen compensation fund and credit
balance of X 45,000 in profit and loss account. Pass journal entries for the above trading

that the above may be transferred to partner’s capital.
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4. T ATSIER &I Y49l

Admission of new Partner

1 3% & YT—
gl faseq AN foIRee  (Choose the right option)

1. TN AU & FHIGBRT § —

a) NI 3Urd — <737 3TUTd, b) TAT IFUTd — YRIT 3FUTd
C) YR 31U + 737 Ui, ) S ¥ dig el

Equation of sacrificing ratio is-

a) Old ratio - New ratio b) New ratio - Old ratio

¢) Old ratio + New ratio d) None of the above
2.  RLIEERCIGIRCICINIGIEE

a) JAEER @ Yd9 W, b) B4 & AT W)

C) AEIER! BH & fdsy W, d)sTH 3 PIg e |
Revaluation account is opened at the time of-
a) Admission of a new partner b) Dissolution of firm

c) Sale of partnership firm. d) None of these.

3. W9 7 9EieR WE & Afd 99 ordr € 9 399 S fhar S §

a) ¢ AR & Yoil @i b) e @ra #
C) Y AISER & dle] @ H d) 9% @ #

The amount of premium brought in cash by new partner is credited in

a) Capital account of new partner b) Premium account

c) New partner's current account d) Bank account

4. UAY W YTHADT UR BIF ATl o ¥ 31gUTd H dfel Sl 8 —

) T AT AU H b) QR ST JTUTT H
C) T U H d) ey argura |

The profit on revaluation on admission is distributed in which ratio-

a) New profit sharing ratio b) Old profit sharing ratio

c) Sacrificing ratio d) Gaining ratio
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STe FIT ATRER BH H 9T Rl & o BH & [Jgae dufed vd g1i¥cdi

I
) YHedifehd fhar ST &

b) JITad @1 ST §
C) W4 WEERI & 99 ®U 9 faaRka fear smar 2
d) T AERR B W IHD! Yol & U H TH R fIAT S 2

The assets and liabilities existing in the firm's balance sheet on the admission of new

partner are-

a) Revalued

b) Kept as usual

c) Distributed to all partners equally

d) Credited to new partner in the ratio of their capital.

JTHIIh IR S IT B T 989 Bxd o |

a) g‘\’lﬁ ATSER b) T ARER

C) |l |IEER d) STH ¥ By &I

Profit or loss on revaluation borne by -

a) Old partners b) New partners

c) All partners d) None of these

IV AEIER & Y99 & GHY AMRT AT Bl BRAidRd [haT Sl 8—
Q) gTHSHT @Td b) R AEER & Yol @ 3
C) ™ BN FHRIS @Td | d) a9l = |

General reserve at the time of admission of a new partner is transferred to-
a) Revaluation account b) Old partner's capital account

c¢) Profit and loss adjustment account  d) Realisation account

ATATBUS ®H | 2: 1% 31guTd § ARGR 819 C & ®H H 1,/4 91T

& oy WISIER 991d & | A, B 91 C &1 791 &M 1Urd 1 8TT—
a) 2:1:1 b) 3:2:1 c) 2:2:1 d) 1:1:1
A and B are partners in a firm in the ratio of 2:1 respectively. They admit C for

1/4th share in the firm. The new profit sharing ratio of the firm will be-
a)2:1:1 b) 3:2:1 ) 2:2:1 d) 1:1:1
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1 3 b YT —

BH Bl G Bl T H HeAifdd T &I M T |l & AR —

a) WH P JIPI H IR AT B |

b) IR WIEERI &I T8 § & S © |

C) YR WEERI & e Wi H ST Sl & |

d) ®H B YEIbI H 7 SABR R FEERT & Yol WT H FHRMST B
& Ol © |

The Goodwill valued in reconstitution of a firm according to new rules is-

a) shown in the books
b) paid to old partners in cash
c) credited in old partner's current account

)

d) adjusted in the capital account of old partners.

&/

fr=ifed 9ol @ Scax IRTT (Answer in one word/Sentence) -

1.

N U D1 0T T 32D © 2
Why is it necessary to calculate sacrificing ratio?
g I ST [ B8l STl © °

What do you mean by Revaluation account?

JTHedih Wi B AY Hel BN (a1 SIal & 7 N3
\

Where is the Revaluation account balance transferred?
HIEleR & Y9 DT T I & 2

What is meant by admission of a partner
TAT AISER @rfa & forw Wi i arr & ?
Why does a new partner bring premium for goodwill in the firm?
Ife a1 IreeR wIfd & forw Ay & Wiy e A8] ofrdT @ ST o]
fhd gaR foar Srar g 2

If the new partner does not bring Goodwill in cash how it will be recorded.

AT AreeR Yol &l orar § ?

Why does a new partner bring capital?

®Y § AU FRICR P YA S BT Bls Uh S99 fIRay |

State any one purpose for admitting a new partner in a firm. SN
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{{ 3 3® ® AGIfId YT (Theory question)

1. T FIRIGR BT Yd S Bl MaIhdl & oI BRI fIRgu |

Write any three purposes for admission of a new partner

2. DIT—DIF A TR H JTIib Wl dIR fHIr Srdr & 2

What are the different situations in which revaluation account is opened?

3. AU AEIER &I FIT—aT AfTHR U 81 & 7 (Prg o)
What are the rights of a new partner ? (write any three)

4. AR A1 WEER BT & WIFTH S 01 9FT a%g & w0 3§ ol & al
T STl gfdfte &1 ey ?

When a new partner brings his share of premium for Goodwill in kind ,what journal

entries are made ?

5. fodl 83 @il 1 & 39 $9 wd fbar Siar g 2

What is hidden Goodwill? How is it calculated?

4 IPH D Agifadd TIT (Theory question)

1. YD Tl 91 &, Ig R 91 ST &, 39 DY g7 Sl & 2

What is revaluation account? Why it is prepared and how it is prepared?
y}‘. 2.  WRIRR & YI¥ R AfId oM gd g1 @1 oared 2agR & gnm ?

S What is the treatment of accumulated profits and losses at the time of admission of a

new partner?
3. frifed W fiwga R fifeg
Q) Ffad At qIT 99y
b) Y HEIER & YA & I Yol & AR

Write explanatory notes on the following
a) Accumulated profit and reserve
b) Adjustment of capital on the admission of a new partner

4, 1 & fore ME &1 a7 e § I8 i Hffd & Sy § °?

What is meant by premium for Goodwill? Why is it created ?
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/'/ 4 3d b feATHD YA (Practical question)

1.

35] 3R S Ub BH ¥ 32 & WHER 8, S/ WA Pl 1,/5 AN R

TSGR 9T | SHBT AAT ATH—BI STFUId T 2l ?

Anju and Manju are partners in a firm sharing profit in the ratio of 3: 2. They admitted

Ruchi for 1/5 share. Calculate new ratio ?

X Ud Y 9rEer g of & 7:3 § am—a8ifa &1 Qv &d 21 S| Z
BT T TSR 9737 | X 379 91T BT 1 /7 9T 927 Y 379 91T &1 1/3
N Z & el | AT $RA © | I AM—2T TgUTd S Ity |

X and Y are partners sharing profits and losses in the ratio of 7:3. Z was admitted as a
new partner. X surrendered 1/7 of his share and Y surrendered 1/3 of his share in favour

of Z. Calculate new profit sharing ratio.

A 3R B 32 @ WREIGER 2| S8 C Pl 1 ST 2021 & BH § 1 /3 91T
HT ARIER 9917 | C Sl & % 5,000 3R T & % 3,000 TG AT 2|
AP -l gfafeedt HIoH |

A and B are partners in a firm sharing profits and losses in the ratio of 3:2. They admit
C for 1/3rd share in the firm on 1st January 2021. C brought % 5,000 for Capital and
X 3,000 for Goodwill in cash. Pass the necessary journal entries.

AR B 323 9= g1 S8M C & Jd & a8 SHT T ATI—aT
TSt 9:6:5 3rura feriRa gam 81 A 3R B C & ueT H fobw argurd
H T far |

A and B are partners in the ratio of 3:2. C is admitted as a partner. After his admission

new ratio will be 9:6:5. Calculate how much A and B sacrificed in favour of C.

31T SR AIAT T BH H WIER & 3R 3: 2 & gurd H o faumfora
&R & 9 AT B 3/10 97 & v wH F yawr <0 &, oy W srfar
T 2/10 9T R AT T 1 /10 9RT UTd BT & |

SAfYeT, =T 3R T & Y o™ a9 U 1 IT0ET HIFY |
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Anita and Neeta are partners in a partnership firm sharing profits and losses in the ratio
of 3:2. They admit Geeta for 3 /10th share in the future profits which she takes from
Anita 2 /10 and from Neeta 1/10. Calculate the new profit sharing ratio between Anita,
Neeta and Geeta.

A 3R AN U& ®H H 32 & AEER ¢ | g Bl T AEER & wY H
gaeT &A1 AT | g BT A H T 1/4 2| A ARERI & 7Y rgUTa
S BITY | ST —

31— g 7 AUA AT HT HYOT ART A | form 7 |

§— RIES 71 U ™ DT 9RT I AR AR SHT ¥ GRIER AU H fora |

Sonu and Monu are partners in a firm sharing profits in the ratio of 3:2. They admit
Rahul in the partnership firm for 1/4th share in the profit calculate new profit sharing
ratio of all the partners

a) When Rahul gets all his share of profit from Monu

b) When Rahul gets his share from Sonu and Monu in equal ratio.

31 AT § Y HH H HHIL 211 & IUTd H WEER 2 I 1 SFa 2022 A
T D 1/6 9T & foIU IRIER §910 &1 I 09 917 & Nfg| & for
1,500 ST & TRAT SOAT W 37 MR § A FHF ©U F UK HRaT ¢ |
W BT AT H A 30T 91T &1 iR § [P B o W 2| aWdh
el ufafteat s |

A and B are partners in a firm in the ratio of 2:1 respectively. They admit C for 1/6

share in the firm from 1st January 2022. C brings 1,500 as premium for goodwill and
acquires his share from A and B equally. The premium for goodwill is withdrawn by A
and B equally. Pass necessary journal entries in the books of the firm to record these

transactions.
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PRI TAT JFH TAIYR dlel Teb BH H BA: 32 B U H AEER o |
31 AR 2021 &1 @1 RIEaT 771 UaR o1 —

Karahe and Aslam of shyopur are partners in the ratio of 3:2 respectively. Their balance

sheet as on 31st December 2021 stood as under.

faeaT (31.12.2021%)
Balance Sheet(As on 31.12.2021)

T1fde (Liabilities) RUEUE FHfdl (Assets) RUETE

FGR (Creditors) 30,000 | ¥4 (Building) 20,000
UGl @I (Capital a/c) AT (Machinery) 9,000
PRI Karahe 30,000 ISR (Debtors) 45,000
ITTT  Aslam 20,000 | 50,000 | SITATSIA (Provision)  (8000)| 37,000 m’
faf =T (Investment) 8,500 4
JIHS (Cash) 5,500
80,000 80,000

IR 1.1.2022 ¥ fUBIS & 747 71dT IR ARIER 9—IT—
1. B9 ™ BT 1 /3 9T UT 817 | \
2. 9d= DT g X 30,000 AT HART BT oI X 8,000 T ST | \

3. SdC ZRUT SIS X 2,000 ¥ HH B (&A1 SR |
4. TAfFRITT &1 9T9TR Hou 26,500 § S ARTE 7 of forg B

q AT @Il 918y |

They admitted Pichode in partnership on the following terms from 1st January 2022
1. He will get 1/3 share in profits.
2. The value of Building and Machinery will be ¥ 30,000 and X 8,000
respectively.
Provision for bad debts will be reduced by X 2,000 .

4. The market value of Investment is X 6,500 which was taken over by karahe.

&

Prepare Revaluation Account. £

//T
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9. WA qAT &IF FHM WEGR © | 31 fAwR 2021 &1 3771 & fucer
F=TgaR © —

Sachin and Dhoni are equal partners. Their balance sheet on 31st December 2022 is as

follows:
frear (31.12.2021 &1 )
Balance Sheet(As on 31.12.2021)

ST (Liabilities) M 2 FHfedl (Assets) M 2

ISR (Creditot) 2,500 <SR (Debtors) 4,000

< faeT Bills payable) | 3,000 TH (Stock) 5,000

UGl @ (Capital a/c) HATER (Furniture) 500

AR Sachin 7,500 ¥9 (Building) 6,000 \"

¢ Dhoni 2,500/ 10,000 .'.I‘
15,500 15,500

T 112022 | BIgell B 177 ol IR ARIGR a9 28—
1. PIgell goil @ oY 25,000 AT BH & AT AT H H 1,/4 9RT U1
HR TG X 3,000 WA <7 |
2. W g HAMAR BT G 10 % H FHH BT T AR AU T & foly
5 % AR &1 gord fam Smgm |
3. a9 BT Hed 25% W qSIAT ST |

qHedTh ETdl 918y |

They admit Kohli on 1% January 2022 on the following conditions:-

i) Kohli should bring X 5,000 as capital for getting 1/4 share of future profit from firm
and should bring X 3,000 for goodwill.

ii) Reduce the value of furniture and stock by 10% and create a Reserve for bad debts
at 5%

iii) Increase the value of building by 25% .

A’

Prepare Revaluation Account. o
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/'/ 6 3® ® fHATHD YT (Practical question)
J 1. fo=Ter don A9 e wH H B 32 & U H WEGR ¥ 9 1 S
2022 X HHA DI 1 /4 9T & foIU ARIER 9910 8 | BHA & I & T
M T Je % 5,60,000 AT TAT € | AR BT AT A fIHTST 37uTd

B 9:6:5 NWET AT & | PA 394 NI & 9T & foIU T 40,000 BT

feh TFAT % 1,00,000 DI HINARN AT € | BH B YDl H Svicl B MaTAD

Y BT |

Dinesh and Ramesh are partners in the ratio of 3:2 respectively. On 1st January 2022,
they admit Kamal for 1/4th share. On kamal's admission goodwill of the firm was
valued at X 5,60,000. The new ratio will be 9:6:5. Kamal brings his share of premium
é-‘%.':.. for goodwill as Stock X 40,000 and Machinery X 1,00,000. Pass necessary journal

entries in the books of the firm.

&

L

2. I AN G Uh BH H GHM FEIER 2| 9 9 bl FIT AEER g9 2| 31
fasTmaR 2021 @1 S9FT foreer 1 & —

A and B are equal partners in a firm. They admit C as a partner. Their balance sheet as

on 31st December 2021 is as follows:-

frear (31 =R 2021 @) \/\
y Balance Sheet(As on 31.12.2021)
<TRea (Liabilities) a3 2 | gHfeadr (Assets) i3
TFER (Creditors) 1,000 W (Cash) 600
< faus (Bills payable) 1,000 TAER (Debtors) 1,500
goil w@rdr (Capital a/c) Th (Stock) 1,400
31 (A) 1700 HATER (Furniture) 400
g (B) 1200 2,900 | HIIFRT (Machinery) 1,000
4,900 4,900
cp‘&\\Q*

4
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| Pl YA T & Y4 T GRS BRA © -
1. |l 0 & o 2 300 BT YTGYT BRAT ¢ |

2. WAMRR %250 UR Hedlfhd fdar 13|
3. fafamT 2 400 (S fores # 21 o) gl # gl 2|
4. ¥ Yoll & ford 21000 STCT B 3R @A & fordl % 1000 1T & oA

31 U4 § 3AT8ROT R ol & |
qTH e @I g WIERRI &1 Yol ETdr a7 |

The following adjustments were to be made before C's admission
1. % 300 were to be provided for doubtful debts.
2. Furniture was valued at ¥ 250.
3. Investment worth ¥ 400 (not mentioned in the balance sheet ) were to be taken
into account.
4.  Cbrings % 1,000 for capital and X 1,000 for Goodwill which A and B withdrew
in their due proportions. Prepare Revaluation account and partners capital

Account.

QHR 3R HITS ABIGR § AT ATI—BI BT ISaRT 211 & AU H B
2| SHA A H 1/4 9T B O waw Rar 2| SHY 30,000 . Yol
CIRATT | SHET & Ydel & gd 31 Q¥R 2021 Pl ¥R AR FIT BT o

T3 9 PR & —

Shankar and Mangal are partners and sharing profits and losses in the ratio of 2:1. They
admit Umesh in the partnership firm for 1/4th share. Umesh brought 30,000 as capital
. Before admitting Umesh Balance Sheet of Shankar and Mangal as on 31st December

2021 stood as under-
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qoaa (31 feawR 2021 &)
Balance Sheet (As on 31.12.2021)

)

&

L

<1fiea (Liabilities) NIRT 2 | gwfeqdr (Assets) | IR 2
IER (Creditors) 8,000 BRI ?ﬁ‘cbi%’
(Cash in hand) 2,000
< fau= (Bills payable) 4,000 d% H b
RIGIE A CE| 6,000 (Cash in Bank) 10,000
(General Reserve) fafder S1eR
(Sundry Debtors) 8,000
goil @rdr (Capital alc) Th+e (Stock) 10,000
3[HR Shankar 50,000 BHER (Furniture) 5,000
HTel Mangal 32,000 82,000 | HIIRI (Machinery) 25,000
HJ- (Building) 40,000
1,00,000 1,00,000
Ig Al g3 © b —

1. SHY % 12,000 AT H AUF 9FT & o1 RATT |
2. ¥d9 & oI % 45,000 AR TR T oI % 23,000 T |
3. GERI W 6% I &% W Al ol W yraE™ ar |
4. YTHATHT WAl g ASERI &l Yol Sral 99183 |

They agree on the following points-

1.Umesh will bring X 12,000 for his share of goodwill.

2. Value of building is X 45,000 and Machinery is valued at ¥ 23000.
3. Create provision for Bad and Doubtful debts @ 6% p.a.

Prepare Revaluation account and Partner's Capital account
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T

8 3k @ fHATHD YT (Practical question)
1. AT SR AT 3 /4 3R 1/4 U H A1 BTG9G B 2 | 31 FHw=R
2021 BT SAPBI JITUH 3 UPR & —

Sita and Geeta share profits in the ratio of 3 /4 and 1/ 4. Balance sheet as on 31st

December 2021 is as follows-

qeaa (31 faaR 2021 &)
Balance Sheet(As on 31.12.2021)

<1 (Liabilities) IRT 2 | gwfeqdr (Assets) RUEIE
fafder @9eR (Sundry Creditors) | 83,000 | §@® H Uds 53,000
(Cash in Bank)
G e (Reserve fund) 8,000 | U™ fdux 6,000 L
(Bills receivable) .ﬂ ’
4ol GTaT (Capital a/c) QIGR (Debtors) 32,000
AT 60,000 ¥ (Stock) 40,000
frar 32,000 92,000 | fhaasd (Fixtures) 2,000
CIGECICCE 50,000
(Land &vBuilding)
kst
1,83,000 1,83,000
01 SIFaRT 2022 BT 7 o1at W= M =1 g4I ferar —
1. I Yot & fordr % 20,000 17|
2. Y™ @fd & % 10,000 < | foraer mft ey drar ik fiar smeRa
BT |
3. WIh R hadad & oI H 10% BT & Al sH1T qr fafdy SeRl
MR UM faua R 5% @ & ¥ ARy Rl & ol Uraem= g9
SR |
4. A R 9aT & oI H 10% 1 R | g Bl o

q eI @TdT, WSIaRI &I Yol Tl dIR SIS |

41



On 1st January, 2022 they admit Ram on the following conditions-

1.
2.

5.

Ram brings X 20,000 for his capital.

Ram gives X 10,000 for goodwill out of which half of the amount withdrawn by
Sita and Geeta

Stock and fixtures depreciated by 10% per annum and

Provision will be created for bad and doubrful debts and bills recivable @ 5%
per per annum

Value of Land and Building be appreciated by 10% per annum.

Prepare Revaluation Account and Partner's Capital Account

AT 3R 99 Th BH H A 211 § AEER 2 | J AT BT 1/3 9T B
oy AR # U9 od 7 | Al U Ry @1 =t & forg wiftew @
360,000 AT AU AU BT Yol A& AT | Yawr o1 fAfr &1 ®H &1
frear o= gR or—

Sarthak and Vansh are partners in a firm in the ratio of 2:1 respectively. They admit

Mansi into partnership for 1/3rd share of profits. She brings 60,000 as premium for

goodwill and also proportionate capital. on the date of her admission, the Balance sheet

of old firm was as under-

facer (=it &1 yder fafdr &1 )

Balance Sheet (On the admission of Mansi)

<1 (Liabilities) RURIIES JHfeaar (Assets) RURIEES

goil @Tdl (Capital alc) IH (Plant) 66,000

reid Sarthak 70,000 WHaR (Furniture) 30,000

g9r vansh 60,000 1,30,000 | fafSR=IRT (Investment) 40,000

e 18000 | I (Stock) 46,000
(General Reserve ) QTGN (Debtors) 38,000

d§% T (Bank loan) 18,000 | S ZRUT MATSIT  (4000) | 34,000
RGN (Creditors) 72,000 | (Provision for bad debts)

IS (Cash) 22,000

2,38,000 2,38,000 &
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Iz foreerd gor f& —
1. Wb BT g X 10,000 A HH PR QIT ST |

2. I3 BT eI X 80,000 QG ST |
3. oFeR # wfiel X 3,000 T & ¥ |
4. ref 7 MY AFERT & fou Jom oy g9 gu fAFEnT &1 qeg X

25,000 3ATHT AT |
JIHIIh Wl AR ATSIGRI DT Goll T d915Y |

It was decided to:-

1. Reduce the value of stock by % 10,000.

)

2. Plant is to be valued at ¥ 80,000.

&/

3. An amount of X 3,000 included in creditors was not payable.
4. Half of the investment were taken over by Sarthak and remaining investment was
valued at X 25,000.

Prepare Revaluation account and Partner's Capital Account.

3 3R g UPh BH H WIBER & TAT 24 D AU H A BT 9IS BRd

I HH S A H 1 /4 W & oI YIer o_ar 21 98 HH ¥ X 30,000 DI N\
TSl TR SATUIT 3R 3 3R 9§ BT Yoll I a4 39T 31U & ATER \
R AT @1 ST | 31 |, 2021 BT F & Yo & Gd B DI goidl
EEIRICRTUIRIC I

A and B are partners in a firm and share profit in the ratio of 2:1. C enters the firm for

1/4 share. He will bring ¥ 30000 as his capital and the capitals of A and B will be
adjusted on the basis of their new profit sharing ratio. Given below is the balance sheet
of the firm before the admission of C as on 31% March 2021.
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faesT (31.03.2021 @)
Balance Sheet (As on 31.03.2021)

<1 (Liabilities) afdr 2 avfeaal (Assets) RURIIES
IR (Creditors) 8,000 |XIPHS (Cash) 2,000
<7 3o (Bills payables) 4,000 | 9% H B (Cash at bank) 10,000
RIS ER 6,000 | TFGR (Debtors) 8,000
(General Reserve ) idh (Stock) 10,000
TSIl T (Capital a/c) WHTER (Furniture) 5,000
A 50,000 ENIR] (Machinary) 25,000
9B 32,000 82,000 |9a9 (Building) 40,000 7
NV
1,00,000 1,00,000
T DI 3T I §F UBR &

1. @ 12,000 I 1 ST & Y H oThY JUIAT |

2. 9a9 DI T 45,000 3R AR BI % 23,000 TR b AT STQT |

3. GAGRI W 6% &I & W Tad R & [y Yraer o |

4. TS W WA 3, 3R | BT Yol BT FARISA AT STQ |

q HcAIdH ST IR AISGRI &I AT WIAT UG ABGRI & Yoil Erdl

EEIERN

The other terms of the agreement areas follows:

1, C will bring an amount of 12,000 as his share of goodwill.

2. Building will be valued at X 45,000 and machinery at X 23,000
3. Make provision for bad debts at the rate of 6% on debtors.

4. The capital of A,B and C will be adjusted by opening current account.

Prepare Revaluation account and Partner's Current and partners’ Capital Account.
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T

5. ArsicR & fAgfea e 9
Retirement and Death of a Partner

1 3® & YITi—
gl faseq AN foRee  (Choose the right option)

1. QEIER 31 FgRT IR YIS BT AT9-81 fHAep! dIeT ST &

a) YT ATSIERT H b) g AEIGR &I
c) 29 AR d) fonsl 1 71ET
The Profit and Loss on revaluation is distributed at the time of retirement of partner.
a) All partner b) Retiring partner
¢) Remaining partner d) None of these
2. frgft o= vgel 9 faer wfa & {6 AEieRi & qeg diel Sar g |
(a) GRT TSGR I (b) Figa ATSIeR @
OREEMERIEENED (d) fpt b1 18T
Goodwill shown in books before retirement is distributed among:
a) Old partners b) Retiring partner \/\
c) New and old partners d) None of these.

3. P ATSER P STRIMYBRT B < MR BT YA 7 811 4R fha uicrera ufcray |
TS (&7 Il §

a) 10% b) 5% c) 6% d) 7%
The interest payable to the legal executer of deceased partner on his due amount will be:

a) 10% b) 5% c) 6% d) 7%

4, HIHCER & P PEUT W &AM Y fhE 3urd H drer J1dr &

a) QU Ut A b) ST Ui H
c) |MH U d) 5T § P AL Q%§§3
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In which ratio goodwill is distributed on retirement of a partner:
a) Old profit-sharing ratio b) Sacrificing ratio

¢) Gaining ratio d) None of these.

. OEeR @1 fagfa w aifaaRa e 989 &) Sl 8-

a) ®del g ARIER R

b) Hac AY ANERI §RI
c) ®ad ARSI AEERT §RI
d) Mg AEER Ad 99w AEERI §R]

Undistributed loss on the retirement of a partner will be shared by

a) Only retiring partner

b) Only remaining partner

c) Only senior most partner

d) By all partners including retiring partners.

6. gTSISR ATSIeR] BH O 3[TRT UZUT HY Ahdl &

a) JTTDTRI TEVT DI G SHR b) YT ATSITRT BT AgHfT |
c) TG & UTaLHI U d) STt ||

A partner can retire from the partnership firm

a) By giving notice of retirement b) By the consent of all partners
c) As per the provisions of the deed d) All of the above.

7. 9T8IeR &1 fsprad 8idT € o4 dg—

a) dMR & ST 2
b) B H WIPIER BFT ORI T8l g1 =T8T ¢ |

¢) TSR SEXd & Ui PIs B el © |

d) ATeeR) Ufeod B |

Expulsion of a partner is made when he-

a) Becomes ill

b) Does not want to continue as a partner

¢) Commits any act contrary to the partnership agreement
d) When partnership is at will
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13b & YT —
f=ifed 9=l & SR VLY (Answer in one word/Sentence) -

1. TP FIEICR P ATHII TSV B I U] T T © ?

What do you mean by Retirement of a Partner?

2. TH TR U IT 81T & 2

What is gaining ratio?

3. oI Y& 31U 1 YA dasy|

Write the formula of gaining ratio ?

4. A% ATRIER B < AR & YaE fhae! fear S 2|

To whom the amount due to a deceased partner is paid.

5. WISIGR & JqDBIL YN HR YR TIT ATH-[IHIST ST A T T 57

What is meant by new profit sharing ratio in case of retirement of a partner ?

6 AP TS ATSISR b 1T BT (FaeRT H fhar Sar g 2

How would you make payment to the retirement partner ?
7 o1 oRRerfaal & @ wiftq rgurd &1 70T @ Sl 87 \
When the gaining ratio is calculated? \‘

8. WEER &I Mgfd R qxs! # [TedE @arfa &1 o {69 gdR & 2

How would you deal with existing goodwill on retirement of a partner?

9. JEIER & JTBIY TgUT B BT Phlg TP HRUT IRy |

Write any one cause of retirement of a partner.

10. AP YU B ST H fUSS H WA Hog AIERRI & 749 {6y Jrurd A
dfed © ?
On retirement the Reserve shown in balance sheet is distributed among the partner in

which ratio?
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3 3® ® AGIfad UTT (Theory question)
1. B 9 B AEER o Fefa & &1 g9 8§ 2 9Hsisy |

Discuss the effects of retirement of a partner.

2, HH ¥ Bls AR DA g 8 Fadl § 2 §Hssy |

How can a partner retire from a firm ? Discuss

3. TINT U UG T 31UTd @1 U b Sgeal & forg &) oI § 2

State the purposes for which sacrificing ratio and gaining ratio is calculated.

4. AT WISIER B YA B B [AA= Al &1 quie SITe | (hrs
NIE)
Describe the various methods of payment to retiring partner ? (Any Three)

5.  FEER & Agd @9 & P 0T SR DI A8Y |

Write the three causes of retirement of a partner.

6.  arehr 3Od Widl Ba 3T FT @relr ST © ?

)

&/

Why and when annuity suspense account is opened?

7.  VERER B 9g R D ST UAER S 9fiTad & S arell iR #
TUET S B AR B 2 \/\

On death of partner how the amount is calculated to be paid to his legal representative?

8. WIEIGR & JaIghd iR I & dr9 R T DI ?

Write the difference between retirement and death of a partner?
4 b b AgIfad YT (Theory question)
1. [ AEER ®F 9 & 989 9 B W IFD! GG B (A T & 19 Bl 7071

foh bR &1 STl 8 2 SS18xT Afed IHssU|

How profit is calculated till the date of his death if a partner dies in mid of the year?

Explain with example.
2. ¥ A 3T M dTel AISIGR Bl < M1 B 0T fohd UHR B SIeh B 2

How is the amount to be paid to a partner on retirement from a firm is calculated?

\

i
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3.

TP ARIGR & AHI U B UR 1T & YA d) fAfr= faferay &1 aof=
PIfTT

Explain the different methods of treatment of goodwill at the time of retirement of a

partner.

4. N AJUIT Td o4 GIfST U H 3R e B |

Distinguish between sacrificing ratio and gaining ratio.

4 b & fHATHD YT (Practical question)

1.

A, B 3R C 3211 % U H AEIGR § | C & 3P TS B+ IR AT

BT e 260,000 3T SITQIT | I AYOl HoF | T Wiel Tell Y AR
I safelRad R far Sy ar @ ufafte &= B8Rl |

A, B and C are partners in the ratio of 3:2:1. On C's retirement goodwill is valued at =
60,000. If goodwill is raised with full value and immediately written off, pass necessary

journal entry.

A,B, C TATD T& B H AISIGR & TP ATH-f4TST SIUTd Shel: 1:2:1:2 81 C

= TR U fhaT 3R A, B IAT D o 9IS & T4l DT SRIER-aR[6R dlc Pl

fregr feam @ I 31Ut S BIfoTg|

A, B, C and D are partners in a firm sharing profits in the ratio 1:2:1:2 respectively. C

retires and A, B and D decided to share future profits equally. Calculate the gaining ratio.

A, B 3R C 98ISR & Sl dlT9-8I1 4:3:2 & JUId H dicd & T BT Jedid

% 18,000 B3ITI B & 3TN UV B3l R AGLID Siel Hfafeeat i

A, B and C are partners sharing profits in the ratio of 4:3:2. B retires and the goodwill of
the firm is valued at X 18,000. Pass journal entry for the treatment of goodwill on B's

retirement.

B, T W UH AR & AR & 3R 3:2:1 & U H AT9-81 died g1 30
S, 2021 1 ST g 171 TR 3 AT

A, B and C are partners sharing profits in the ratio of 3:2:1. There balance sheet as on 30

june 2021 was as follows.
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' TR (Liabilities) | = (Amount) wrafeaar (Assets) Rl
] I (Amount)
ddER Creditors 1,600 UPS Cash 600
IRfea A 6,000 d FH Uhs Cash at bank 1000
General reserve e Debtors 9,000
Gall Capital T Stock 7,000
A
: 6,000
10,000 M Machinery
B 30,000 3UhIUT Tools 14,000
10,000
C
10,000
37,600 37,600
.’;f::.'::., I AT UR < TR 4 IDTN YBUT HRll & | FRRTAT b Hodf -1+ TR Ffeerd &=
.
(1) 5% AT 0T JMRETIT |

(i) TP IR 5% SR AN TR 10% 3T ed= &1 &

(ii)) HET T TGS HeA T 2 15,100 BTl ST [daR 07 & G- e+ Tl 915U

On this day C retired from the firm and the assets were revalued as under: (i) Create a

provision @ 5% for bad debts.(ii) Depreciate stock by 5% and Machinery by 10%. (iii)

The value of building was revalued at 15,100 by an independent value .Prepare
yﬂ_ Revaluation account from the given information.

5. ST, difd, Yhdl 90 Tddl QISR € Sl ATH-81( 2:1: 2:1 & 3IUTd H dicd! &1 51T &
HaTgRT UR, B B AT BT g 2 36,000 fbaT 7T BIRT, TebaT iR Tdad1 7 wfqwg
AT DT T W4 H dre HT Fread fma @l @ @il fae 1 @i & adaeR & |96y
4 afTaea gafedr iy

Jaya, Kirti, Ekta and Shweta are partners in a firm sharing profits and losses in the ratio of

2: 1: 2:1 On Jaya’s retirement the goodwill of the firm is valued at 336,000. Kirti, Ekta
and Shweta decided to share future profit equally. Record the necessary journal entries for

the treatment of goodwill without opening “goodwill account”.
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. A BUdC TS BH § FHH: 3:21 & 31U ¥ ARICR 2| B BH B T Bl 2 |

AR ARG PR & da A TA1 C & Yoll @rdl & ST 29 33,20,000 AT 21,60,000
o | I8 Aoy fhar a6 A T2 C & goll &l T Av—fauTere rgurd # Fariforg &
SR | 3 Yol S1a IR Qe S7Maedd Sividd Ufdftedl Hiforg |

A, B and C are partners in the ratio of 3:2:1 respectively B retires from the firm After
making all the adjustments the final balance of capital account of A and C are %3,20,000
and 1,60,000 respectively. They decide to adjust their capital according to their profit

sharing ratio. Find out the new capital and pass necessary journal entries.

. 3,9 U9 9 532 AU H A BT BT AT B 2 | 1 31l 2021 B IAHT fIear

9 UBR T —
A, B and C were partners sharing profits and loss in the ratio 5:3:2. Their balance sheet as

on 1st April 2021 was as follows:-

facaT (01.04.2021 &)
Balance Sheet (As on 01.04.2021)

)

&/

T

<T@ (Liabilities) RUEIIE JHfeadr (Assets) P %
SREIK (Creditors) 20,000 ?IEEE, (Cash) 16,000
HHAN] AT B Employees TSR (Debtors) 16,000
provident fund) 26,000 | i (Stock) 80,000 \/\
ol @I (Capital a/c) HHTeR (Furniture) 34,000
A 1,00,000 9&= (Building) 1,20,000
9 B 70,000
g C 50,000 220,000
2,66,000 2,66,000
[ Sad AT BT JAABT TV HRaAT © AR T T fHar mar € —
1. ¥TRT BT 91T X 8,000 BT |
2. IEERI W 5% S0 FIT & oY TS HRT BT YIae fham 137 |
3. fafdy oFeR gW® o A % 4,000 31f¥® 3ifd Y| \\\\\%\4*

" B JARI T8I B UR JAHID FTT F18Y |
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/'/ C retires on the above date and it was agreed that :-

I) Share of goodwill was X 8,000.
i1) Provision for doubtful debts 5% was to be made on debtors.
iii) Sundry creditors were valued at X 4,000 more than the book value.

Prepare Revaluation account on C's retirement.

6 3® ® fHATHD YT (Practical question)

1. 31, 9 AAT Y 3:2:1 & U H AT/ [IHTIAT Bl 21 37 1 SR, 2016 DI HH
W AP YN BT 81 BH H I AT BT eI X 20,000 [T 1T | AR &
GERId & IATAR TH Siia-TdTdd H 39 T 3,000 HI 1! yd@ ay <F SIRAfH 2
RIRI IR 6% ATYD DI G H TS (AT SR 1 STas, 2017 B UL Y fhar

S TRAT| <Y DT YA b YL 3 Dl Jcg Bl g1 37 b (ST DT YA B dTb!

SERECINICKIEN

A, B and C were partners in the ratio of 3:2:1. On 1st January 2016 A retired from the
firm. His share in the firm was valued at 20,000 According to the partnership agreement
an annuity of 3,000 will be paid to him on 1st January of each year and interest @ 6% per
annum should be paid on the balance. The first payment was made on 1st January 2017.

After receiving the fourth annuity, A died. Prepare annuity suspense account regarding

payment to A.
2. g, Uehof 3R TATRI W AISIER &1 31 fSAwR, 2017 D1 U &l 4o &l Tg| §9
y Iy 1 I < IR 50,000 AT I 977 ganm fab 1R 10,000 BT 1B FRT

YA DI SRR SHSBT HH YA 1 SR, 2018 Bl g7l Y 31 YA Hl
gferay 1 SaR] D B TR F9F TSR Dl I8 iRy Herd oY, 3@ 97 3
SITaRY, 2020 1 81 AT ATy &< MR UR 10% iy 1] f&ar S g1 anfye!

SERECIGICRIERE

Pawan, Pankaj and Palash are equal partners of a firm. On 31st December, 2017, Palash
died. On this date amount payable to him was X 50,000. It was decided that this amount
will be paid as annuity of ¥10,000. Its first payment was made on Ist January 2018 and
other payments are made each year on 1st January. His legal Executor died on 3rd January,

2020 Interest is calculated @ 10% p.a. on the outstanding balance of each year. Prepare

h Annuity suspense Account.
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{{ 3 A.BTATC TP HH H G ARIER g1 31 fagmR, 2022 &1 C ° BH H JaH1 T8
oo g1 ey &1 v 1 gt i R -

A,B and C are equal partners in a firm On 31st December 2022,C retires from the firm.

The Balance sheet of the firm on this date was as under:-

)

&/

&g (Liabilities) afr (Amount) qufa (Assets) afr (Amount)
% %
KRR (Creditor) 3.000 NETS] (Cash) 2,000
RIEGEL (Reserve fund) 6,000 Ih (Stock) 7,000
{'%;‘5:. ‘13?[ T (Capital a/c)
A 6,000 BHTER (Furniture) 2200
B 8,000 H2f¥RT (Machinery) 1,500
C 6,000 Yo+ (Building) 16,300
20,000
29,000 29,000

B B T BT Jod X 9,000 31T AT C & 3[BT TS UR &1 ST aretl TR
y‘.ﬁ, fFrepTierl, S 0T T H ARG DINTYI ATSIGRT BT Yol WIell gd Hrifafey

The goodwill of the firm is valued at % 9,000. Calculate the amount payable to C and transfer

it to his loan account. Show Partner’s capital account and working note.

4. TS, oI AT WRTHHA B 4 AIBIGR & [STTdhT ATH-TIHTSH U1 2:2:1 21 31
AT, 2022 B ST ol T 39 THR B-

Digvijay, Brijesh and Parakram were partners in a firm sharing profit in the ratio of 2: 2:1
Their balance sheet as on 31st March, 2022 was as follows:-

T
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<1Rea (Liabilities) |  XTRT (Amount) 3 Huf (Assets) | X1R7 (Amount) 2
AR (Creditor) 40,000 NG (cash) 8,000
I (Reserve) 49,000 TG R(debtors) 8,000
UGl (Capital) TIP (stock )
42,000
feafreorg Digvijay 18,500 Ucc (oatent)
2,07,000
Q@fﬂ Brijesh
82,000
UXTshH Parakram
75,500
2,65,000 2,65,000

31 919, 2022 P Forer = 2rat IR HaTigd 8iaT ©

(i) ¥ BT TR BT ™ % 70,000 FAT TAT GIADI H 81 GRITIT ST

(i) T 2,000 T b G 0T DI AUfIRad |

(ii) U< DI A ST HHT ST B WIT, TSGR BT Yol Wl TR
PITY |

Brijesh retired on 31st March, 2022 on the followings term :

(1) Goodwill of the firm was valued at X 70,000 and was not to appear in the books.
(i1) Bad debts amounting to 32,000 were to be written off.

)

&

L

(iii) Patents were considered as valueless. Prepare Revaluation A/c and Partners Capital A/c.

6. ST, <1 3R T g %A # AEIeR €1 S AT9-81 4:3:1 & 31Ud # dlcd! &l

ATEERT Aol & ATAR I (BT ATRIGR B G 81 Sl § Al A au1 & AH b
50% @ MR IR Tl BT GeiehT [hdT SR 28 HRaX, 2015 DI Al Bl 7
Bl 5| AT ISl 5 99 & A9 $9 bR 2010-3 60,000, 2011-3 97,000, 2012-3
1,05,000, 2013- % 30,000 2014- % 84,000. i1 &1 g 1 ey IR =1l g3l fep
He D1 eI X 80,000 HH [T T &1 AN b 3R D1 AT B 701 DI
T Ud @Iy & Hag # Sl gfafedl sifsigl 95 w7 Sar vd i &1
3T IRTER T BTN
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Sita, Reeta and Geeta are partners in a firm sharing profit and losses in the ratio of 4:3:1.

As per the terms of partnership deed. On the death of any partner goodwill was to be

valued at 50% of the net profits credited to that partners capital account during the last

three completed years before her death. Sita died on 28 February, 2015. The profit for the
last five years were 2010 - % 60,000, 2011 - % 97,000, 2012 - % 1,05,000, 2013 - X 30,000
and 2014- X 84,000. On the date of Sita's death. Building was found undervalued by <
80,000, which was to be considered. Calculate amount of Sita's share of goodwill in the

firm and record the adjustment Journal entries of goodwill and revaluation of building.

The new profit-sharing ratio between Reeta and Geeta will be equal.

8 3Id & fHIATHD YA (Practical question)

1.

XY IR Zud %4 § IRIER & S A—=aI &7 fare= Haer: 1/2,

1/3 3R 1/6 & AU H & @ | 31 RHRR 2022 B I9H1 Il

AR orr—

X, Yand Z are partners in a firm sharing profits and losses in the ratio of
1/2 ,1/ 3 and 1/6 respectively. On 31st December 2022 their balance sheet

was as follows:-

TR (Amount) \/\

gi@ca (Liabilities) afr (Amount) | Hufar (Assets)
g 4
d9eR (Creditor) 8,000 Riks (Cash) 15,600
3% Irferfaad fafae II_/R
(Bank Overdraft) 3,600 (Sundry debtors ) 13,000
IR EICIT Ty (Stock ) 17,000
(General reserve ) 12,000 |aA (Machinery ) 3,000
sfl Capital — SUEHY (Furniture) 3,500
X’ 20,000 wa (Building) 11,500
‘Y’ 10,000
‘Z’> 10,000
40,000
63,600 63,600
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Z 39 & araeprer Ugvl fhar o e g H fA=foiRad gamae Aied
-

WY ® g H 10% B glg B MY | FIA R 5% =kl AUfIRad &l
MY | SAERI W 5% Jad K0T G IR 1Y | BH @ T & &
312,000 ®. & | ATUDBT 31 @R 2022 Bl YAHAIBT WAl AR ATSER]
&7 Yol @rar 9917 2 |

Z retires on that date and following adjustments were decided:
Increase the value of stock by 10% , Depreciate Machinery by 5%, Create reserve at
5% on debtors, Value of goodwill is ¥ 12,000. Prepare Revaluation account and

Partner's Capital Account for the year ending on 31% December on 2022.

YgTe, NTIIATH 3R ARGl ATRIER &1 Sdh] ot fqursi= &1 1/2, 3/8 3R

1/8 ST AR &1 RTITATH 7 8,100 H YT 9T YBAIS 3R AGTAT Bl

SIBY ITHT T fhdT| 59 ¥hd H | 23,600 WS o iR 24,500 TGl

9 QU | IR &b GBI TSI HRA b LA 36,000 BT o149 a¥ H HHRT|

ST FRAT & ATAR TG R AGTATA b drd ATH DT e D AT

TSI T 1 T W FA1YI &I gRT YA AR Eierrel & e
I A1, IS Hae H IQ Pblg yo Ugie 81 Fehell © ol DI |

Prahlad,Radheshyam and Lakhanlal are partners; they shared profits and losses in the
ratio of 1/2 , 3/8 and 1/8 respectively. Radheshyam retired from the firm selling his
share of %8100 to Prahlad and Lakhanlal. This amount is taken by Prahlad and
Lakhanlal in the proportion of ¥ 3600 and ¥ 4500 respectively. After the retirement
of Radheshyam they had a profit of ¥ 6,000.

From the above information distribute the profit between Prahlad and Lakhanlal if
there is some journal entry when Radheshyam sold his share to Prahlad and Lakhanlal,

it should also be mentioned.
Hifed, FIRST 3R A Ub ®¥ H WEER & | d A™ 8 &I Yol & fgurd d
dfed €1 31 A1F 2022 BT SHBT fucer /= & —

Mohit, Neeraj and Sohan are partners in a firm. They divide their profits in capital

ratio. Their balance sheet as on 31% march 2022 is as follows-
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&g (Liabilities) | Tfr (Amount) Hufar (Assets) afr (Amount)
@-erR (Creditor) 21,000 Hd- (Building) 1,00,000
oft Capital — T2 (Machinery ) 50,000
Mohit 80,000 b (Stock ) 18,000
Neeraj 40,000 <TIR (Debtors )
Sohan 40,000 1,60,000 | 20,000 19,000
ar=g wfafa () gsa *oT
(General reserve ) 20.000 (1.000) 14,000
(Bad debt)
4% ¥ Awds (Cash at
Bank) T
2,01,000 2,01,000 .ﬁ,
Sad fafr & RS B A BT T80T HRA BT [ oiar 2 IR IS T 9
T Aol & g fear Sar g —
1. 9aT DI 20% W IGRT Y |
2. TIERI TR A Bl 15% Tb gl B Y |
3. HYE W 20% B RN WY |
4. BH DI T BT Hedidbd X 72,000 HAT TAT 3R JGHIL TST B dlel AHIGR \/
BT AT Y FEERT & Yol WY & HAeaH A FARINT fhar S | \
5. 98 ®¥ @I Yol X 1,20,000 T HI T8 T |
QAT QT SR AR BT Yoil @idl 9915y |
On that date Neeraj decided to retire from the firm and was paid his share in the
firm adjustments after adjustments of the following:-
i) Building to be appreciated by 20%.
i) Provision on debtors to be increased up to 15%.
iii) Machinery to be depreciated by 20%.
iv) Goodwill of the firm is valued at X 72,000 and retiring partner's share is adjusted
through the capital accounts of the remaining partners.
v ) The capital of the new firm be fixed at X 1,20,000 . o2
cs{\\\\%\

Prepare Revaluation Account and Partner's Capital Account.
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31, 9 3R 9 Uh %4 H SIS &1 31 fSHRIR, 2016 D1 3 &1 4o 81 T 5
fafr 1 9 <3 T 2 60,000 21, ST % 10,000 T ATYDHT §RT I DI
ST SR AT 1 STHaRT, 2017 1 BT I GAT 2 I Al gedes qu
1 ST 1 1 ford STRIT 2 S7as), 2022 BT 3T & STRIMTSHRI BT g 1 TS|
31&<T ]I R UiTay 10 % a1 TS <3 21 alfveh! I<id 1T §918 |

A, B and C partners of a firm. On 31st December, 2016 A died. On that date
amount payable to him was 260,000. It was decided that this amount will be paid
as annuity of ¥10,000. Its first payment was made on 1st January, 2017 and other
payments are made each year on 1st January. His legal executor died on 2nd
January, 2022. Interest is calculated @ 10% on the outstanding balance of each

year. Prepare Annuity suspense Account.

Rf, A 3R AT 2:3:5 & AU H ATH—aI died © | S (e
31 fawweR 2021 @I 71 2 —

Ravi Som and Mangal share profit and loss in the ratio 2:3:5. Their balance sheet

on 31st December 2021 is as under:-

)

&/

aIf@ca (Liabilities) | Tfr (Amount) qufa (Assets) afr (Amount) \/\
3 3
IR IR R | 18,000 H4q+ (Building) 40,000
(General reserve ) %X (Furniture) 20,000
AR (Creditor) 12,000 |39&R (Debtors ) 15,000
st Capital - Jdds (Cash) 9,000
I Ravi 20,000
AH  Som 18,000
HITA Mangal 16,000 54.000
84,000 84000 JiS
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1 ST 2022 DI HITel GBI Y8 HRAT © | (=1 TS Bl ear
H G PR A1 FARISH WAl AR GOl Tl g918u—

1. 999 UG HeireR | 5 % IfG |

2. oFERI R 5 % HSH] |

3. QAGRI W 10 % 3TeIed ol e |

4. IS T 2200 |

On 1st January 2022, Mangal retired from the firm. Prepare Profit and loss
Appropriation and Capital account if:

i) Building and furniture increase by 5%.

if) Discount on creditors @ 5%.

o iii) Reserve to be created on debtors @10%.

iv) Legal expenses 200.

. %2,

I
//\k

4
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T

6. TSI WH T THTOA (FRrereT)

Dissolution of Partnership Firm

1 3d d Y¥—
el fadeu gaax fRay  (Choose the right option)

1. 319 Th TR A S g IR fearforar & I ar &Y eom & e or
faeea deaTdr a—

(a) THSA gRT (b) Ve faed
(c) A Trgea (d) 3T @ P A&
When except one all the partner become insolvent then such type of dissolution of firm called
(a) Dissolution by agreement (b) Dissolution by will
(c) Compulsory disssolution (d) None of these
2. AFfaf@a & @ fra aRica &1 ord A& foham ST §—
(a) JTER (b) deb HOT
(c) Zad HUT I (d) 3ufay eRica
Which liabilities is not paid
(a) Creditors (b) Bank loan
(c) Reserve for doubtful debts (d) Unrecorded liability
3. 513 ¥ dig-aT a1f¥ica, I Ifdca
(a) AT TaT (b) Uoh @Y &7 AW
(c) 3MplEHAP T (d) FTHER & Tl &I FHOT |
Which is the external liability
(a) General reserve (b) Balance of capital a/c
(c) Emergency fund (d) Loan of partner wife
4. 5 @ fagcd X wwiaal g @l @ @rd Falkd s3d 83—
(a) GAHSIThA @IdT (b) 3fdw Rcar
(c) agell @rdr (d) eTH-gia fAAST @rar |
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T

On dissolution of firm all assets and liabilities are transferred to-

(a) Revaluation Alc (b) Balance sheet
(c) Realization Alc (d) P & L Adjustment Alc.
5. IHell Wid & AH-gIfA Dl [AHTSIT AieRT & ALY 5 3rgqurd # dar &
(a) QU 3feIUrd (b) I AT
(b) oI U 3reUred (d) &T 3reurd
Profit & loss on realization is distributed among partners in which ratio
(a) Old ratio (b) Sacrificing ratio
(b) Gaining ratio (d) New ratio
6. TS Wid & Upfd &
(a) ATH AT Qid & FATT (b) U @I & THA
(b)ARKITT @A & FATT (d) e¥ca @Ia & A
Nature of realisation account is-
a) Nominal account b) Assets account
c) Personal account d) Liabilities account
7. ®A & FAUA X @Il dTel TT P ded o-
(a) sl =g (b) P T
(c) Tl = (d) 398 & PIg AN
Expenses on dissolution of a firm is called
(a) Personal expenses (b) Legal expenses
(c) Realization expenses (d) None of these
13® & YT —

fr=ifed gyt @ Swax dIRﬂQ Answer in one word/Sentence -

1. IRA H AR BH & fdaed IR dRL 8 arell Sfaf+ s oIF 1 7 |

Which act is applicable in India on dissolution of a firm

2. TGN G B & Siaddlel H fhd+l IR @l Il & |

How many times the realisation account is opened during a firm's life?
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3. o9 TSR &) dufeaal W <1fidd 3ifdie 81 WV a9 98 T hedidl & 72

When liabilities of the partner are more than his assets then he is called as?
4. B¥ & fdEed W BN 81 a1 S9! Ui AEeR 59 o U § & |

In which ratio the loss on dissolution of a firm is born by the partners?

5. B @ AUfcadl § ¥ UM fHdsd Foll &I Iae fear S & 2

To which payment first priority is given out of the Assets of the dissolved firm?

6. TG & MY & AT U BH &1 g faged & dAdar € ? (@18 Uh
gRReIfT AHZY)

When a firm is compulsorily dissolved without order of court ? (Explain any one

circumstance)
7. UfB® ARIERI BT <7 § BH & fqged $9 & IHhal & 7

How can a firm be dissolved voluntarily in the case of partnership at will?

8. fdecd 8 WR WIEIGRI & =Te] WAl & Y 6d W A swdiandg fdy S
g?

To which account the balance of partners current account is transferred on the dissolution

)

&/

of a firm?

3 3k @ AgIfad IIT (Theory question) \/\
1. wrEert o AfEr foee & o119 & guerd 8 2 a9esy |

What do you understand by compulsory dissolution of the firm? Explain.

2. g @ o 37 i e |

Explain the meaning of Realization Account.

3. % % g9 W fEETe % fuen ot she eHesd |

Explain the procedure of settlement of account on the dissolution of a partnership f

4. % o foaeeT st qe § feae-fordre o1 e e frar s 2

How are accounts settled on the dissolution of a firm ?

5. WTIER o SIS o B o HYT | 3 a3 ?

Differentiate between dissolution of partnership and dissolution of firm? <%

/i
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/'/ 6. H % guTod i Tl s dag o guengd 2
|

Explain briefly the methods of winding up of a firm?

7. ®HF[THAF Y9G BT ©

What are the effects of dissolution of a firm.

4 3Hd b AgGIfad T (Theory question)
1. YHe o ETaT 3 et @Td § 3w sTars |

What is difference between Revaluation A/c and Realization Account ?

2. TTEIET B o e & o ST © 2 |reier S foh-foh afcfkarfaa o s &t wendt 27

What do you understand by dissolution of a partnership firm? Under what circumstance a
ﬁ’ partnership firm is dissolved ?

3. ¥ o FHTIH T hIH-sh1T & W1 @il ST & ? S @ sl GHATEY)

What accounts are opened on the dissolution of a firm 2 Explain the

Realization account

4. Greie) wH o foere it fafi= faftrt siq-et 22 for aftiRafaat 8 =mre & o foeea
T ohT ST T & 2 THST |

What are the various method of Dissolution of Partnership firme Under

what circum stances the court order the dissolution of a firm?2 Explain

5. GTer ®H o faereT ot sht ST aredt usht gfafsat dfs

L]
I*"r Give necessary journal entries on dissolution of partnership firm.
s’
- 6. T T 3hT I S |

Make the Format of Realization A/c.

4 3fd & fHATHD YT (Practical question)
1. Ueh %H S 37 3 '« |13t §, o faered R FefeiRad saeem o forg e ==
SIEIER IR

(i) Tereret sz T TRTE 1000. (1) T Tedeh 7 ST9fare wwafe A et AT 5,000.
(iii) % 4,000 T TEfeaT & Tl @ # ST I T 8 37 g0 of fora
- N (iv) T @I HT AT E 8,000 37 SR & 7 3 : 1 H foafed & 2l
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A'and 'B' are partners in a firm . What entries you should make when the firm is dissolved

on the following conditions: (i) Realization expenses % 1,000. (ii) The realized amount of

an unrecorded asset in the book showed % 5,000.(iii) The stock of % 4,000 is transferred to

Realization Account, which was taken by 'A'. (iv) Profit on realization ¥ 8,000 is shared

by 'A"and 'B' in the ratio of 3:1.

= Rerfaet o o yfafReat aifog —

(a) % 85,000 % AHGRT A % 40,000 Tk SR T 43,000 F Torf=riwT =1 370 el 1 qOf
VT o TefTehT feraml

(b) THERZ 16,000 % g o % 18,000 He hT HRA bl 3T ST T EATHI FLd @

(c) THER % %90,000 % &l & % 1,20,000 3 M TAT % 30,000 o UFKS ! BH HT WA
T L B

(d) oFeR &I T 3,000 YA T |

Record necessary Journal entries in the following cases:

(@) Creditor worth 85,000 accepted 40,000 as cash and investment worth 343,000, in
full settlement of their claim.

(b) Creditor were X16,000. They accepted machinery valued at X18,000 in settlement of
their claim.

(c) Creditors were 90,000.They accepted building valued %1,20,000 and paid cash to firm
%30,000.

(d) % 3,000 is paid to creditors.

X 3R Y 31 & U H WEER 8| 9 BH 4 fJged ¥ 9eAd © | Fufcaal
(RIS Y 22,000 B) DI IGell A % 1,10,000 YTl BV © | BH & Qrcd AT
3 fIaRoT 9 UBR © —

&R % 40,000, X &I Yol % 1,00,000, Y I Yol (et 2¥) % 10,000,
A2 @rdT ([Adha 2) 2 8,000, Il @ &4F 21,000 |
SFGRT ! Yol e H % 38,000 fQU 7Y | gl @ar a8y |

X and Y are partners in a ratio 3:1. They agreed for dissolving the firm. Assets (cash
balance X 2000) were realised % 1,10,000 ; Liabilities of the firm and other details were
as under:

Creditors ¥ 40,000 ; X's capital ¥ 1,00,000 ; Y's capital (debit balance) ¥ 10,000; Profit
and Loss account (debit balance) ¥ 8,000; Realilsation expenses X 1,000. Creditors paid

of in full ¥ 38,000. Prepare realisation account.

64

)

&

L

N



6 Ud 8 3k & foAaTcH®d YT  (Practical question)

1. 3T R T 31 fTE, 2022 T 39T FTEG™T o GATI 1 o foram 38 fafer st 3qemt fogr
frryer @ 2 —

A and B decided to dissolve their business on 31st December, 2022. On that date their Balance
sheet stood as follows

T (Liabilities) | 0197 (Amount) U (Assets) TMIT (Amount)

i3 i3

@ER (Creditor) | 10,000 RIg (cash) 2,000

)

ASTEUI(A'sLoan) | 14 100 &R (Debtors ) 13,000
Sft T fafder dufet | 68,000

(sundry assets )

&/

A

20,000 @ (Goodwill) | 5,000
60,000

B

40,000
88,000 88,000

TSI YSil o SFIATA 8 -1 forsrisiar shed €| =i § % 6,000 S8t §U| R =Rl 5% FHeldt \/\
T AT feparm ) forferer vt | % 63,000 S€ g SRR € % 8,000 SES g WHIG hi

(N

AT 500 BS| A @I 1Y)

Partners share Profit & Loss in the ratio of capital. Goodwill realized 26,000. Creditors were
paid off at 5% discount. Sundry Assets realised 263,000. Debtors realized X8,000. Cost of

dissolution amounted to ¥500. Prepare Realisation Account.

2. 3ftfare 3R foie U v | greier 81 38 31 fedws, 2022 T greier) % o GHIoH o g
foram S7eht amfeien feufa 3o yerm off-

Arvind and Vinod are partner in a firm they decided to dissolve the firm on 31 December

&

2022 their balance sheet was as follows :-

%
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HibE] (Liabilities) T (Amount) guf (Assets) T (Amount)
da(Creditor) 300 kg (cash ) 4,000
M o (Reserve Fund ) 8,000 farfarer gt
fore =T SBUT (Vinod’ s loan) (Sundry assets ) 30,000
gsit 1,700
arfetg Arvind 12,000
g Vinod 12,000 24,000

34,000 34,000

fafder wufeeit X 20,600 # <A T | ageN T X 600 Y | Al WAl Y |
Sundry assets sold to X 20,600 Expenses of realisation amount to ¥ 600. Prepare Realisation

account

3. Rredr, M 3R T 7 31 A= 2022 1 EH o6 forere 1 (Hoi foerm st A fowrs stqua
3:2:1 @ 3T 39T fIZ1 39 TR 2-

Shilpa,Meena and Nanda decided to dissolved their firm on 315t March 2022

Jtheir profit sharing ratio was 3:2:1 and their balance sheet was as under

)

&

L

aTired (Liabilities) 7T (Amount) TURT (Assets) T (Amount)
gait (Capital) 3 (Building) 81,000
Rrear Shilpa 80,000 Q-_C."TEF(SfOCk) 56,760
#=r Meena 40,000
: 1,20,000 e (Debtor )
& FoT ( Bank loan) 18,600
dar @ geli(Capital of
oleIeR(Creditors ) 20,000 23,000
Nanda)
"fere o & fag graem
Ry GIES h
( Provision for doubtful 37,000 s (cash) 10,840
debts)
=T "9 (General
reserve)
1,200
12,000
1,90,200 1,90,200
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1o 3 % 41,660 T T T T 35,000 T o foram 37 Sieh 607 3B ST A T TEHT g3l A9
ETeh T forshal % 14,000 H FoRAT T/ SR F 10,000 SR & T 8,000 A g81 A 1 forshar £
1,10,000 ¥ TF3T| 1Y SHERT H T HT hl 50% TEA g31 FEA ol ATT TRT £ 1,200 31
6,000 H& 31 T Sk AR TEehi H R-ATARIT &, T Toh THER A 361 Ao T o foranm) et
eI RIERT

The stock of value of ¥ 41,660 are taken over by Shilpa for ¥ 35,000 and she agreed to discharge
bank loan. The remaining stock was sold at ¥ 14,000 and debtors amounting to ¥ 10,000
realized ¥ 8,000, land is sold for % 1,10,000. The remaining debtors realized 50% at their book
value. Cost of realization amounted to ¥ 1,200. There was a typewriter not recorded in the
books worth ¥ 6,000 which were taken over by one of the creditors at this value. Prepare

Realization Account.

4. AT B U BH H SHRT: 3:2 % STATG H ATER 2| I8 BH 1 forere foham| foreret < ferfer
=1 ITh! STl SHAST: £ 27,650 TUTE 74,300 ol TR E 27,500 211 Tehg 3T T 760 o1 FRIfrl &
T T 25,430 TS| Torered o =7 T 1,540 T AT WA MG SHAT ATt 2 FH hl Tedoh 65
IS |

A and B were partners in the ratio of 3 : 2. On the date of dissolution their capitals are ¥ 7,650

and 4,300 respectively. The creditors amounted to ¥ 27,500. The balance of cash was % 760.
The Assets realized ¥ 25,430. The expenses on dissolution were ¥ 1,540. All partners were

solvent. Close the books of the firm.

5. 37, & 3TN © Uoh BH H HISICR 8| ITeh T/ 31 ST 3haen: 3:2:1 71 31 femwer, 2022 &t
I BH T ToreeT T ot (2 foram Seht et 360 Tahr off-

A, B and C are Partners in a firm and their Sharing ratio is 3:2: 1 respectively. On 31st

December, 2022 they decided to dissolve the firm their position was as follows :
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&Iffica (Liabilities) | IR (Amount) dufar (Assets) afr (Amount)
% g
AFASR (Creditors) 35,000 qfF T g
52,000
3 &I FKOT (A's Loan) (Land and Building)
25,000
TIT PV (Reserve Y (Stock) 48,000
fund) AN (Investment) 10,000
. 2,400
ol gdeR (Debtors) 55,000
A 45,000 I (Provision)  ( 5,000) 50,000
B 37,000 L
d& 3 s (Cash at bank) 2,400
C 18,000
1,00,000
1,62,400 1,62,400

ThY I IAGRT | FHRT: % 33,000 TS F 42,000 €A U W 3 o 1 1562 £ 40,000  foparm
T o 1 T £ 8,400 H foTw) iHET =Rl £33,000 T AT H fodl| S1es =i o % 5,000 THY
T ST e H 8T €| FHII 42 % 18,000 TY) T @l e AHER  YSi T qar shifsg)

Stock and debtors realized ¥ 33,000 and ¥ 42,000. Land and building sold ¥ 40,000. B agreed

to take over investments at an agreed value of % 8,400. Creditors were paid % 33,000 in full and

final payment. Outstanding expenses of ¥ 5,000 were paid which were not included in the
Balance Sheet. Realization expenses amounted to ¥18,000. Prepare realization account and

partners’ capital account.
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{‘/ SHIS—2 DAl AGTH m
Unit-2 Accounting for companies
7. A Yoll & foau d@iea (i gd gvwon)

Accounting for Share Capital ( Issue and Forfeiture)

13 D YTi—

a8l faseu A forfReag (Choose the right option)

1. AHAT SR R
(31) U B TR @) DU ® W@
(4) P & ATED (@) 38 | P =l

Equity shareholders are :

(a) Creditors of company

(c) Debtors of company

HU & Tl HT SR BT B
(31) srfad

() A iR =g <
Liabilities of members in a company :
(@) Unlimited

(c) Limited and unlimited both

(b) Owners of company
(d) None of these

@) A
(@) 379 & BIg el

(b) Limited
(d) None of these

fert @7 ffas \E fosar S Aebar ®

(&) e W

(@) 9o W

Shares can not be issued at :
(@) Par

(c) Discount

31T IS @l ®

(31) faaTd @
SISILGIEECIN

Share Application accountis a:
(a) Personal account

(c) Nominal account

@) dHEE wR
() SugaT Tt

(b) Premium
(d) All of these

(@) IR<fdd Qe
(@) T & B 7L

(b) Real account
(d) None of these
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/'/ 5. 9% Yon fored aifde ofel &1 ftes =12 fhan o dahan dgen © ¢

(37) gwar it (@) anferT ot

(@) srfergya oft (=) fifae o

Capital above which Shares cannot be issued by a company is known as :
(a) Paid - up Capital (b) Called up Capital

(c) Issued Capital (d) Authorised Capital

3 3% & fHATHS U (Practical question)

1, T fAffcsS U =1 20 6. dTel 20000 FHAT f ST BT SN fby | Qo AR Uh

qed WIS 8 g | BUAl Bl GIIDT § A Yol gfaficdi difog |

25 A limited Company issued 20,000 equity shares of Rs.20 each to the public. Total
amount was received in lump sum. Pass necessary Journal entries in the books of the
company.

2 uTe fAIffics =1 %6.100 URT 3feT dTel 20,000 HHAT 3 10% WHIH TR ST1aT Bl it
by | |yl 3y Nffem A arded R & Ui 81 75 | Ul DI YKl ¥ AaeTd
golt ufaftelt #Ifvig |
Paul Ltd issued 20,000 equity shares of Rs.100 each at a premium of 10% to the public.

All the amount including premium was received with application itself. Pass necessary
Journal entries in the books of the company.
M 3. Ay foAcs 7 . 10 UfT 39T arel 25000, 12% Y@iehR 32N ST B R fdhy |
,::?:-“ Aol IR T qed UTa &1 T3 | HUN DI YDl H AM@aId Yol yfaftedt sy |
Manish Limited issued 25000 12% preference shares of Rs.10 each. All the amount

have been received in lump sum. Pass necessary Journal entries in the books of the
company.

4. A fefics 7 td 79 %.72,000 § a6 TR 9 @R | @€E ufiea @ w9 |
SA- 100 HU URT 3¢ & YUia FAAT 3 TG R ORI fby | |1 foafics &
QI H AP el gfaftedl Sy |

Sony Limited purchased a machine worth Rs.72,000 from Verma Machinery. As

purchase consideration it issued fully paid equity shares of Rs.100 each at par. Pass

necessary Journal entries in the books of Sony Limited.
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faary fafies 9 sMR deaeE fafics | % 55,000 H Udh 9d9 @RIl | &I Ifdwd
& wY H 3HT ®. 50 URT A dTel 37 10% NHFH W I fhy | fary fafics @
Q] H JATIeID STiel gfafcdl  SIfvig |

Tiwari Ltd bought a building for Rs.55,000 from Amar Construction Ltd. As Purchases

consideration it issued shares of Rs.50 each at a premium of 10%. Pass necessary
Journal entries in the books of Tiwari Ltd.

R U8 U+ 1 U 09 %.95,000 H WRIET | ©RIE Ufiwd @ forg wud ufar i
100 dTel Yufaed HHAT 3 DI 5% Ge R FHIFT far | dul & J&adl § awid
e gfaftedt @I |

Simran & Company bought a machine for Rs.95,000. For purchase consideration, it

issued equity shares of Rs.100 each as fully paid at 5% discount. Pass necessary

Journal entries in the books of the company.

Jeilel Sl Bl 10 WU Ul I drel 1,000 FHAT A BT RSP © o7 TR IFH w0
2 URY e B R I gAY AR S IrAT BT A B H A% BT | HU A
I 3T ST B foly | M o) S o Hafd oot gfaftedt @) |

Sunil, a Holder of 1,000 equity shares of Rs.10 each failed to pay Second and final call

@ Rs.2 per share. The company forfeited his shares. Pass journal entries related to

forfeiture of shares.

I o b R s @ 20% WAgH R SR fHU 77 100 3797, 50 w0
Ui 3T &7 aRP = | 1t o 3ffded W 20 ®9U Uf fFr (Wud 10 Wfgw  afaq)
3R 15 ®YA TRY 3727 YA iR S I &7 YIae -Te] &R Ul | SAD 3T Yo
Td A I & a8 S R forar WA | IR B Sl W e SiHe ufaftedt
PN |

Anil, a Holder of 100 shares of Rs.50 each issued at a premium of 20% of Reliance

industries, did not pay the Allotment money of Rs.20 per share ( including Premium
Rs.10) and first and final call of Rs.15 per share. His share were forfeited after the first

and final call. Pass journal entries related to forfeiture of shares.

g faIfice o 2,000 3T U/H 100 ®UY dTel DI 20% WM R AR fBy | i
9 UHR ¥ ofl | JMMded WX 30 ®UY UfT 3f9, 3Mdc W 65 ®UY Ufa fwr (hfas
afed ) @R 25 SUY URT T YH ATAAT TR | oI ST BT 400 3 & ORG & 7
JTIe AR 3fEe AR BT YA PR (ST W YH ATEET S AR BT YIare el
PR Ul | et ¥ SEd 3 BT e B forar | 37 @ O | A& o
gfafteat ax |
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Y Limited issued 2,000 shares of 100 each at a premium of 20%. Amount payable as
Rs.30 per share on Application, Rs.65 per share on Allotment ( including premium )
and Rs.25 per share on first call. Rajendra, holder of 400 shares could pay
Application and Allotment money but failed to pay first Call money. The directors

forfeited his share. Pass journal entries related to forfeiture of shares.

6 3® ® fHATHD YT (Practical question)

1. % fIfice SU=l 9 20,000 FHAT 3 10 HYY UfT 37 a1t BT 5 HUI Ufy 3fT
M R SR fhu | I3 < 39 R o — Mded IR 3 w9y Ufd 3790, 3eed uR
9 ®Y gfa 3fer (N afga) dem Iy IR Aredr R | AR IRRT 99T IR T
B S | U B GRAB! 7 oiel ufaftedt #ifvig |
A Limited company issued 20,000 equity shares of Rs.10 each at a premium of Rs.5

per share. Amount payable as Rs.3 each on Application, Rs.9 each on Allotment
(including premium) and balance on Call. All the amount were duly received in

time. Pass journal entries in the books of the company.

2. AY faIffics I S9dT BT 10,000 37T 10 BYY U 3197 SIRY fhy | I T 59 bR
off — MG W 2 J/W , 3Fed W 5 HUY IR YA JMAT W 3 ®OJ Uil 3797 |
12,500 372 & forg e ura gU 3IR eidesd suifis wu ¥ &y Ty | e
SITIE R BT SYYNT e WR b TV | U B Y| A Ma¥ID Sicl ufdfteas
DI |
Satyam Limited issued 10,000 shares of Rs.10 each to the public payable as Rs.2 per

share on Application, Rs.5 per share on Allotment and Rs.3 on call. Applications were
received for 12,500 shares and allotment was made on pro-rata basis. Excess
application money was utilized towards allotment. Pass necessary journal entries in the
books of the company.

3 gax foaffcs = T 20 gfar afer arel 10,000 3 SINT fby, /9 W <7 AR 59 JHR
off— % 10 UfT 31 Mmaded W, T 6 UfT T e W AR AY Y AR AfcH arae
R | {4 IRET FT WG UT B TS | RO D GRIDT H awad Yol ufaftedt

DI |

Sundar Limited issued 10,000 shares of X 20 each, amount payable X 10 on Application, X 6

on Allotment and balance on first and final call. All the amount were received in time. Pass

necessary Journal entries in the books of the company.
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/'/ 4 IMT US Ul o T 100 U 3T @Tel 20,000 3F; SIHAT BT WIRT fbu | AR 59 bR

T N— T 25 Ul 9T 3mded W, T 35 U 3 3feed IR AR I9 gUH iR ifaq
AT WR | 91 IR JI TG U1 &1 T8 | SUAl dl J&id] 3 3Maeda Uoll ufafted
PINTY |

Sharma and company issued 20,000 Shares of X 100 each to the public. Amount payable as X

25 per share on Application, X 35 per share on Allotment and balance on first and final call. All

the amount were duly received in time. Pass journal entries in the books of company.

5 vad faffics 7 T 20,000 F9AT 39T % 20 UM 3fFr % 4 Wifmm W iR fg | wfdr
39 UPR 7T - T 6 URT 379 maed wR, T 10 UfT 37 e R (NiHH Afza)
3R Y yord AR S AraqT W | [T IRRIT J T TS BT TS | BUAl Bl Gl
# uoft ufaftedt aiforg |
X Limited issued 20,000 shares of X 20 each at a premium of X 4 per share. Amount payable

as X 6 on Application, X10 on Allotment ( including premium) and balance on first and final

call. All the amount were received in time. Pass journal entries in the books of the company.

8 3Id & fHITHD YA (Practical question)

1. & foIfics dU =1 10 ®UY UfT 3 dTel 20,000 3 4 TR YT 3w NHTH w®
SR {3 | fY 39 UaR < ot — 3ded R 4 ®UY Ufd 3fEr (1 wud WitgH |fq),
3 ®UY YT 37T Eed W (1 w0 UIHIH |i2d), 4 U UiT 372 9oF JraeT )
(1 ®u WiHEH |fga) IR 3 wug ufd 3 3iftH I W (1 w9y W™ |fza) |
AR AR FHT R TG &1 978 | Bl Bl Il H St gfafeedt sifo |

A Limited company issued 20,000 shares of Rs.10 each at a premium of Rs.4 per

share. Amount payable as Rs.4 per share on Application ( including premium Re.1),
Rs.3 per share on Allotment ( including premium Re.1 ), Rs.4 per share on first call
(including premium Re.1 ) and Rs.3 per share on second and final call ( including
premium Re.1). All the amount were received in time. Pass journal entries in the books

of the company.

2, qar foffice # 2,000 37T 100 U dTel STAaT BT FAifAa fe g w < <9 —
MG TR 20 w9 UfT 37T, e IR 30 ®UY Ui 39, YA I WR 20 wUI Ui
afer QiR fgfo wd <iftm ameer W 30 ®uy ufar 3fer| 2,500 3feN & fofy amdes ura
8 AR 3rquIfaes arae fbar Tar | 1t rdas R &1 YN 3freed ¥ fbar
TN | |/ IRRI FAT AT U 81 T3 | g1 fAfes & gEIel | e gfdftedt
PINTT |
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Verma Limited issued 2,000 shares of Rs.100 to the public, payable Rs.20 per share
on Application, Rs.30 per share on Allotment, Rs.20 per share on first call and Rs.30
per share on second and final call. Applications were received for 2,500 shares and
allotment was made on pro - rata. All the money were received in time. Pass journal

entries in the books of the Verma Limited.

A4y forfAce &1 s1ffiqpd Yoil WA 2,50,000 & ST 10 WU dTet 25,000 A H fa1iora
2 | BU F 10,000 3T DI FAAT H AN BT 9 R 7 AR 39 UBR o —
M W 2 ©UY YfT 39T, 3ded TR 3 ®UU Ui 3, oH /g R 2 w9 ufd
afer iR fgfo 1a sifom amee T wR 3 wuy ufa ofer |

8,000 3 & Y MraaT U gU AR HUT 7 e IR & | ¥4 IRRT 9
WR YT 8 TS | BN DI YDl H S ufaftear I |

Authorised Capital of Manish Limited is Rs.2,50,000, divided into 25,000 shares of
Rs.10 each. Company issued 10,000 shares and application were received for 8,000

shares from the public. Amount payable as Rs.2 per share on Application, Rs.3 per
share on Allotment, Rs.2 per share on First call and Rs.3 per share on second and final
call. Allotment was made and all the money were duly received in time. Pass journal

entries in the books of the company.
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8. ogal & feru a@i®a (FrrHs v onem)

Accounting for Debentures ( Issue and Redemption )

1 3 & Y39 —
fr=ifed gyt @ Swax dIRﬂQ Answer in one word/Sentence -

1.

TUdh FOOH RS B AT ¥ Ufdhel & ®T H F97 9T 8Ial ©2

What does a debenture holder receives as a return from the company ?

WRIg gfawe § A YE Hulcd & geM W Sl U BT € 98 R dEdr 7 2
What is Purchase consideration minus Net assets, called ?

HUN B foly oo gRS 9T B § 7

What are debenture holders for the company ?

RAT FROYF] BT &1 AT ST Favell © 2

Can debentures be forfeited ?

qIEh U I RTIAMTI & 7

What is bearer debenture ?

3 3k @ fHATHD YT (Practical question)

1.

T IS BUT - ST &I 20 W/ dTel 25,000, 12% FO9F 10% WA &R
SR 6 | IR T Uy T U gz | BUH Bl YD H Sl ufdftedl ifoy |
A Limited company issued 25,000, 12% debentures of Rs.20 each at a premium of 10% \/\

to the public. All the amount were received in lump sum. Pass journal entries in the

books of the company.

T fIffics Uil 7 %.99,000 # U Had WRIGT | 100 w9 dTel 11% FOTH Bl 10%
ge R ORI dRD WNIG UfThel BT YId b1 &I [Hoig forar war | dusl - &
qecTehl H STeel gfaftcdl SIfviy |

A Limited Company purchase a building for Rs.99,000. Purchase consideration was

decided to pay off by issuing 11% debentures of Rs.100 each at 10% discount. Pass

journal entries in the books of the company.

e faffics 9 I« Us $U ¥ %.1,20,000 B Hufcd TRIET | 100 Y aTel 8%
FOUH DI 20 WU Ul ROIH WIHTH R SR BRI fhar T | e
fafics @1 qedel ¥ oma’ds e ufaftedr S |

&

//\\
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Lochan Limited purchased Assets worth Rs.1,20,000 from Gupta & Company.
Payment was made by issuing 8% debentures of Rs.100 per debenture at a premium of

Rs.20 per debenture. Pass necessary Journal entries in the books of the Lochan Limited.

4. TRg forfies 9 =R BHeR 8199 I %.36,000 BT R WISl | WIE Ufdhe & wU

N O\

H 3ET 20 /W ATl 12% FUUF SN fhU | ga foffics &1 gwael  a I®
ST+ gfaftesdt sifse |
X limited bought Furniture of Rs.36,000 from Ghar Furniture house. As purchase

consideration it issued 12% debentures of Rs.20 each. Pass necessary Journal entries in

the books of the company.

5. Tl fafics = |ae 7R 9 9.42,000 H U 719 @RIQT | 100 W9 dTel 15%
RIS 5% WRIH R SN & aE fhar T | kil fafics @ gedal 4
T IH S wfaftedt BRI |
ABC Limited purchased a machine for Rs.42,000 from Samrat Machinery. Payment

was made by issuing 15% debentures of Rs.100 each at a premium of 5%. Pass

necessary Journal entries in the books of the ABC Ltd.

6 b ® fHATHD YA ( Practical question)

1. UfeT feIffce 9 100 WU dTel 4,000 , 12% 9T UF 10% B WR WIRI fhy | 01 39
UHR oI oAl — 3fded WR 30 ®YY |, 3f§ed R 15 HwYY 3R AT AR Jr&1 W)
|l I e 99y o) 91w U MY | BU B gEiD § ool uldfedt o] |
Paul Limited issued 4,000, 12% debentures of Rs.100 each at 10% discount payable

as Rs.30 on Application, Rs.15 on Allotment and balance on Call. All the money were

duly received in time. Pass journal entry in the books of the company.

2 |qYE FYRI 7 RO feifice | %. 99,000 H T HeNH WRIGT | 100 HUY dTel 10%
FOH IR BB WRIG FlAbel BT YA bR BT o foram a1 | ware Feier
D GBI H AMGLID AT Ufaftedl w59 FoaA I SR far ar 8 — (31)

TSI TR () 10% WfHgH R (F) 10% B R |

M/s Samrat Machinery purchased a Machine for Rs.99,000 from Kunal Limited.
Purchase consideration was decided to pay off by issuing 11% debentures of Rs.100
each. Pass necessary journal entries in the books of M/s Samrat Machinery when the

debentures are issued (a) at Par (b) at 10% Premium (c) at 10% discount.
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oieer faffies 9 5,000, 8% FUOE 50 WU ATl SIRT fHU | JIfT 59 UHR T 20
— A& R 10 BYY |, 3fMEeH W 10 WU 3R AY IR JTe1 § < o | 800 FOTIA!
B b IR ATde RN IR JrAT AR BT YA B H fdBel 8T | B DI
Q] H AP JIoiHel Ufafedr Sifvig |

Lokesh Limited issued 5,000, 8% debentures of Rs.50 each payable as Rs.10 on
Application, Rs.10 on Allotment and the balance on call. A holder of 800 debentures

failed to pay Allotment money and final Call money. Pass necessary journal entries in

the books of the company.

f=faRaa Amell § oas SR A @ folv SiHal ufaftedt o) —

(31) 10,000 BT B 8% FEUUF 100 . T FHHT W TRY fby 1Y,
ST AT W AR E

(d) 10,000 TI & 8% FUMUH 100 . YD BT 5% & WHIH W SIRI fdy 7Y,
ST Ed W YA 2

() 10,000 FHI & 8% ZUIYH 100 %. YD Bl 5% B B W SINI {dhy Y,
ST A WA B |

Pass journal entries for the issue of debentures in the following cases :

a) Issued 8% debentures of Rs.10,000 of Rs.100 each at par, redeemable at par.

b) Issued 8% debentures of Rs.10,000 of Rs.100 each at a premium of 5% redeemable
at par.

c) Issued 8% debentures of Rs.10,000 of Rs.100 each at a discount of 5% redeemable

at par.

8 3k @ fHATHD YT (Practical question)

e fIfATS =1 20,000, 10% EOTOH 100 HUY UAH TRT fhy, ST JMEEH TR 10 ©IY,
JAMETT W 20 FUY , YAH I R 40 HY 3R TN UG 3 IraeT W 30 w9
gfey Sorgs & w9 H AR T I | {H IR o g R U fhy Y | e fafics
@ gD # Sl ufaftedf e |

Dhony Limited issued 20,000 10% debentures of Rs.100 each at par, payable as Rs.10

on Application, Rs.20 on Allotment, Rs.40 on First call and Rs.30 per debenture on
second and final call. All the money were duly received in time. Pass journal entries in
the books of the Dhony Limited.
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f=faRad Amel o 9o gfaftedt a8 —

(1)

@)

2000, 12% ZEUUF URId 100 HUY dTcl BT AT T ed R R F9 R
aqE |

2000, 12% OIS UAd 100 SO dTel &I FHT T WR 3R 5% UIfgH
R A |

2000, 12% ZETUH UIdH 100 HUY dTel Bl 5% WM R A iR a9q
WA |

2000, 12% FUTUH Y% 100 ®YI dTel BT 5% e W AT iR T R
e |

Pass journal entries in the following cases:

a)
b)

c)

d)

Issue of 2000, 12% debentures of Rs.100 each at par and redeemable at par.
Issue of 2000, 12% debentures of Rs.100 each at par and redeemable at a premium
of 5%.

Issue of 2000, 12% debentures of Rs.100 each at premium of 5% and redeemable
at par.

Issue of 2000, 12% debentures of Rs.100 each at discount of 5% and redeemable

at par.

& fAffcs ®Ui 94 10 WYY dTel 4,000, 15% ZEOIIH HI 12 w9 Ui FOIH W
SINT faT | Jdes WR 2 WOy |, 3fEed W) 5 v (NiHH 2 wuy dfgd ) |, yeM
TEAT IR 3 ®IY AR Sifaw I/ W) 2 w9 9fd RoME & w9 A AR < o
AR R T R AT T | U @ sl § oo vfafiedt g |

A Limited company issued 4,000, 15% debentures of Rs.10 each at Rs.12 per

debenture. Amount payable as Rs.2 on Application, Rs.5 on Allotment (including

premium Rs.2 ), Rs.3 on first call and Rs.2 per debenture on final call. All the money

were received in time. Pass journal entries in the books of the company.
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YNT—9  frefa femon @ o m
Part- B Analysis of Financial Statement

shIs—4 facdi faavont &1 fagaiyor

Unit-4 Analysis of Financial Statement
9 . YT o T TarawoT

Financial Statement of a Company

1 3d & YT—
s el fabeu RS ED fe1f@&q  (Choose the right option)
1. ATy g1 foraor seer -
a) T foawor b) < ferawor
¢) T o feramor d) = 1 e

Profit and Loss Account is called-

a) Income Statement b) Profit Statement
c) Statement of Losses d)Expenditure Statement

2. aTTffe fergt sheeTe &- \/
a) GufREt shr feraor b) @i o fysror \
¢) Tearfer oo d) 1 oo

Balance Sheet is called—

a) Statement of Assets b) Statement of liabilities
c) Position Statement d) Income Statement
3. &It A7 FearaTIey 7 e S fRaT ST 8-
a) ST BT @t b) Ferzr
¢) 3T =3 @raT d) g @raT

What is presented in horizontal or vertical format-

a) Profit and Loss A/C b) Balance Sheet
c) Income Expenditure A/C d) Cash A/C T
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ST ST STOAT ForgT Foer | o SR T e -
a) STETEUT T9T b) SEOTTALTIT < &1 &
¢) ek |Teror g d) GeITeTeh Hedt oht auT i

In which meeting it is mandatory for the company to present its balance sheet?

a) in an extraordinary assembly b) in the meeting of debenture holders
c) annual general meeting d)in the meeting of the board of directors
T HUT | I 2-

a) TEALY g b) 1fH

¢) I d) STk Tt

Liquid Assets include-

a) Cash in hand b) Land

c) Building d) All of the above

1] wufd e -

a) TEALY TS b) IR

¢) 9T fearos d) SUrE Gt

Current Assets include-

a) Cash in hand b) Debtors

c) Bills receivable d) All of the above

=1 Huf 3t | STfreh forde & 9 Tehg | Tiafd ohi ST &ehl! -

a) 6 HIE b) 199

¢) 9 HIE d) st ot

What is the maximum time in which current assets can be converted into cash?
a) 6 months b) 1 year

c) 9 months d) Anytime

U grfred TSRt BT 7 2T sferser oy fereft et e fovede sk 2-

a) Te] ATfreT b) FTera arRrea

¢) =1 e d) 3 & g T

Liabilities whose existent depends on some future event-

a) current liability b) contingent liability

c) non- current liability d)none of these
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10.

forer it o Fry 5 Tl 2 e e o o -

a) TRl it b) Frifer gsit

) FAferepa it d) SfTsr

Which capital is not included in the total of balance sheet?

a) Paid up Capital b) Issued Capital

c) Authorised Capital d) Share Capital

forefter feramor oA i Seva 2-

a) ATIGTIShAT 3T aT TRTHT b) ferfier feraon it sti=r e
¢) fequnteat =i €#qe F d) Sfer=TTERaT i T

The main objective of the financial statement is-
a) Finding out Profitability b) Examine the Financial Statements

c) Satisfying the beneficiaries d) Completion of formalities
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10. Tarfter foreror 6t forsywor et erarteRa eraTa m

Financial Statement Analysis and Accounting Ratio

1 3% & YT—
gl faseq ESEQ foRere  (Choose the right option)

1. ] ST o SATER W 8-
a)4:1 b)2:1
c)1:1 d)0.5: 1
The ideal level of current ratio is—
a)4:1 b)2:1
c)1:1 d)0.5: 1
2. 3TER! O S B -
a)l:1 b)3:1
c)2:1 d)4:1
Ideal liquid ratio is -
a)l:1 b)3:1
c)2:1 d)4: 1
3. g foreese feig ferschoor wqg ot -
a) T b) &I %
¢) T AT 3R T &1+ = d) TeheT AT T
Breakpoint Analysis explains-
a) Profit b) Loss
c¢) Neither Profit nor Loss d) Gross Profit
4.  THY Ed I
a) AT AT b) TATIETIhT STIITd
¢) YT &THaT SFUTd d) foramsfierar srguma
Inventory turnover ratio is —
a) Liquidity ratio b) Profitability ratio o
¢) Solvency ratio d) Activity ratio Q@
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FTTIAT fore STTAT ShT TOHT STt & 2l STt -

a) ATHERIRAT ST b) foramfietar srguTa
¢) forcfrer feurfer v d) IwfH | & Ig T
Which ratio is usually calculated in percentage?

a) Profitability ratio b) Activity ratio

¢) Financial Position ratio d) None of the above
| TR forawer & 1 7 o wfrerd 31 TorT fore o 3 STt &-

a) el 19 b) Y& A

¢) farsear d) 5 I

On what percentages Income items are calculated on an Even size statement?

a) Total profit b) Net profit

c) Sales d) Net income

T TR et foremor & wuf o &t o ST o 1o foRe ot St STl 8-

a) A Faf DESEZRIKEIT]

¢) %t =T "t d) Fet dafa

On what percentage assets are calculated in an Even size position statement?

a) Artificial property b) Total Fixed Assets

c) Total Current Assets d) Net worth

EEISERCRRICE

a) ATHETIRAT ST b) foramfietar squTa \/ \
¢) RTE &FHAT 3TTATT d) 95 | 1E T

Operating Ratio —

a) Profitability ratio b) Activity ratio

¢) Solvency ratio d) None of these

A |l T -

a) =Te] HUTT - qoad b) =Te] Hftl- ShY- Jeied =4
¢) =] HufeH+ ThY +qaed = d) =] Ef- T +qaad o

Formula to find out Liquid Assets is —
a) Current Assets — Prepaid

b) Current Assets — Stock — Prepaid expenses

&

c) Current Assets + Inventories + Prepaid Expenditure

)

d) Current Assets — Inventory + Prepaid Expenses
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10.  OcAdT skl GeI8 el ST &Il 8-

a) SIS ST b) T e ST
¢) T ST d) SR @l
The rigorous test of Liquidity is —
a) Current ratio b) Absolute Liquidity ratio
¢) Liquid ratio d) All of the above
1. ST SATeR STTd Heer T s 8-
a) forshar 37N shar TgT b) 31 forsra ST frenford ot o
OEERMCERCINERIE Rl d) 51 & fopeft o
The capital Turnover ratio relationship establishes —
é;‘?;:‘:o:’ a) Sales and purchase ratio b) Net sales and capital employed
c¢) Gross Sales and Capital Employed d) None of these

1 3 & 93d —
frr=ifeed 9o @ Scax AIRTT Answer in one word/Sentence —

1 Torer osh & st ot ferfee 2 fopar s wepar?
On which capital shares cannot be issued?
2 o o e foref o i e 82
What is the financial year in case of a Company? \/ \
3 ] aTRIeE % & 3eTet fiay)
Give two examples of Current Liability.
4 ot e i § & e forfie fersror 22
What are the two basic Financial Statements of the Company?
5 Y 2ie % ST IS &1 Hal o W [y

Name any 2 items under the heading Provision.

6 IS S St 3 e o fora 8, R SR 82

What is the capital acquired by the company called?
7 fore forfter forsgwor shr wifrefier AT ST 22

Which financial analysis is considered to be Dynamic?

\

8§ AT et forshdl o sIeR el el 22

%
)

h Where is the Total cost equal to Total Sales?
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9 ToriT foreRuTt T HATATEATCHe olih AT T FHEaATdl 0?2
What is the critical analysis of Financial statements called?
10 qTeash foraror st o 3 foha @t o Twiehi i STTarvareRa Bt 82
How many years of data are required to prepare a comparative statement?
11 3A7hS o TREdHT shT STH fohd forseuor ST T STt 87
In which analysis the estimation of the change of statistics is applied?
12 e OS82
What is Working Capital?
13 =T ST o Forg STfira T R 22
What is an ideal Current Ratio?
14 TS TN o foT ST ST 0T 82
What is an ideal Liquid ratio?
15 e =] wufE i aard S AR 76 2
State the current assets that are not Liquid.

16  forg foredwor sht feom AT ST 22

Which analysis is considered to be stable?

18 =] 3T sht TUMT 7 & fifay]

Write the formula to calculate the current Ratio.

19 QT SFAT TTIMT & & fetRay) \/
Write the formula to calculate the Liquidity Ratio. \
20  ToRE U T Tehs | qid TRETdd foRa ST Hehel ¢ |
Name the asset that can be changed immediately into cash .

21 Tore SIUTa T Hefer s TTC ATt ohl AT U STed S E 2

Which ratio is related to the cost of the goods sold and and average stock?

4 3D D YH
1 et ok farg o o et o Suefiees fofam)
1) fersha it 2) @y
3) 9T foas 4) TR shiftrrm festel @mar
Write sub-headings of the following items in the company’s. Balance sheet.
1) Authorized Capital 2) Goodwill ) \\\\\\<+
3) Bills Receivable 4) Securities Premium Reserves Account
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rerifer T i & o a6 e Ferelt ol 2, 68 2 - 91w e

1) i & HIy 2) R =1 AR

3) =Te] |t 4) =] aTrree

Which items are written in the following main heads, write any two items.
1) Shareholder’s Funds

2) Non-Current Liabilities

3) Current Assests 4) Current Liabilities

ST AT 2013 3T STTEAIL W 1 3 STTHR <3 o e U QTieie Wi o fore e i 3fie
Itk o fiferd wat T SaRi foram ST -

DERREIR RIS 2) < fao

3) TTeshi | 9T W 4) fafae der

As per Schedule 111 part 1 of the Companies Act 2013, in which main head and subheading of the
Equity and Liability part of the Balance Sheet, the following items will be displayed?

1) Interest payable on Debentures 2) Bills Payable

3) Advances received from customers 4) Sundry Creditors

T ST & foreiter shuet o foTe TiteTer & AT 31 371 et AT sh TUMET shife)

faferer S % 5000, 69T WSS Z 8,00,000 , ATH T 1,00,000, ¥ o fofsha TATH 15,00,000
From the following information calculate the operating income and total revenue of a financial
company.

Income ¥5000, Interest on Loan ¥8,00,000, Dividend ¥ 1,00,000, Profit on Sale of Building ¥
15,00,000

frforfiae fersmom & 31 W=l 2021 TS 31 A= 2022 1 SHTE Y 8] I ST forawor sHT3U-
From the following details prepare the comparative income statement for the year ended 31*

March, 2021 and 31 March 2022

e (Particulars) 2021 2022
TorshT Sales % 80,000 % 1,00,000
forsh feru T w1 <l AT forsht &7 60% forsht 1 60%
Cost of the goods sold 60% of Sales 60% of Sales
HIIET I Hehel T T 10% HoheT AT W 15%
Indirect Expenses 10% on Gross Profit | 15% on Gross Profit
FRIHL hl T 50% 60%
Income Tax rate
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T Tl & gerTene ST 1 forareor sHTsu-

From the following details make out a Comparative Income Statement.

foel(Particulars) 2021 2022
AT | 3T £2,00,000 £4,00,000
Revenue from Operations
YT fohT T AT it AT ST AT 50% 3T HT 60%

Cost of Material Consumed
A =TT

Other Expenses

FTIHL hl T

Income Tax Rate

50% of Income

¥15,000

Y IS AT H40%
40% of profit before

tax

50% of Income

24,000

Y A AT FH 40%
40% of profit before

tax

TifoRe STl & T ST AT qT BT 1 freror dar iy

From the following information prepare Common Size Statement of Profit and Loss.

foen(Particulars) 31-12-2021 31-12-2022
T § 3T 20,00,000 30,00,000
Revenue from Operations
T A 4,00,000 3,60,000
Other Income
El{lfﬁ?l‘[@'ﬁﬁﬁﬂﬁ 10,00,000 18,00,000
Cost of Material Consumed
AT T 2,00,000 3,00,000
Other Expenses
ST 30% 30%
Tax Rate
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fifeRa gamel & qorrenss feurft foraor dam i)

From the following information prepare comparative Balance Sheet.

T@T (Particulars) 31-03-2020 31-03-2021

GHAT A YST Equity Share 25,00,000 25,00,000

Capital

TR FHIfET Fixed Assets 30,00,000 36,00,000

TEI UE A Reserve and 5,00,000 6,00,000

Surplus

fof =T Investments 5,00,000 5,00,000

HECANICERYl Long-term 15,00,000 15,00,000

Borrowing

I "uftddiCurrent Assets 15,00,000 10,50,000 m

I TR Current Liabilities 5,00,000 5,50,000
frforfia =T & =Tef 1T sht U ShifTT-

Calculate Current Ratio from the following particulars

=] AT (Current Liabilities) £2,50,000 , ¥Teh(Stock) 60,000 , Tt gt (Working

Capital) ¥ 1,50,000 \/
reerfi Y & =] S T A \
Find out Current Ratio from the following particulars -

Wih(Stock) %25,000 , STER (Debtors) 220,000, I8 faw=r (Bills Receivable)Z5000, 3T T

THMT (Advance Tax paid) 2000, THE(Cash) T15000, TG (Creditors)%30,000, 37 faa=(Bills

Payable) 20,000, s 31fIfasd (Bank Overdraft) £2000

frefetiad STepr & =e] 31T <6t o hifere-

Calculate Current Ratio from the following particulars-

A | (Total Assets) ¥1,00,000, FTeRT SI¥(Shareholder’s Fund) 60,000, X =Te] aTireet

(Non-Current Liabilities) 20,000, T =Te] H#uftan(Non-Current Assets) 50,000

fiferd foreror & =it SAaTa sht ot HifSTu-
S ):Z{-
Calculate Current Ratio from the following particulars- § {\\\\\\
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1) ST YT (Trade Receivables)¥50,000

2) gdad & (Prepaid Expenses) £5000

3) WWWW(CaSh and Cash Equivalents) ¥15,000
4) ICURTAH ﬁﬁ'ﬂﬁ"T(Short—term Investment)¥10,000

5) #EiE (Machinary) 3500

6)ATITIh é?JIT'ITQ(Trade Payables) 50,000

7) YA (Debentures) ¥1,00,000

8) ETeh(Stock) 20,000

T Tl & et ST i o it

Calculate Liquid Ratio from the following particulars-
=TS 4T Current Liabilities) ¥ 1,40,000, shiRfiet dsft (Working Capital) £1,80,000 , SHER

(Creditors) 3000, Eieh(Stock)Z1,10,000

oreTifaee Faeror & Tt ST 9T TG

Find out Liquid Ratio from the following particulars -

1) ¥TehR(Stock)Z 40,000

2) e gsfi(Working Capital) £1,20,000

3) I HufIi(Current Assets)Z 2,00,000

A Rad ST & TR SAFITA T TRher shifeTu-

Calculate Liquid Ratio from the following particulars

?ITFJ_\E'FT'EIET (Current Liabilities)Z50000, %l'IF[\‘é'TCIﬁ'QT(Current Assets)¥80,000, Eh(Stock)

325,000, qgia?ram (Prepaid Expenses) ¥5000, CE 0 (Debtors)¥30,000

frfofiad & wier AT S1gaTd sht o HifSe-

Calculate Stock Turnover Ratio from the following particulars.

¥ TTehR(Opening Stock)E30,000, 3ifad ©Teh(Closing Stock)Z15,000, $FT (Purchase)
80,000, s ATHHT (Purchase Return) €5000, HSigdT (Wages) 9000, 3T TSt WTET(Carriage

Inwards) ¥3500, STk 9Tl (Carriage Outwards) 7000

frferfiaa e & vt wftwaftr tred s1gaTa ot TomT Hifsre-

Calculate Fixed Assets Turnover Ratio from the following particulars .

89

)

&

L



18.

19.

=TS dSfi(Net Capital)5,00,000, R Gsii(Working Capital) 80,000, fereh gg At <t

ANTd(Cost of Goods Sold) ¥13,44,000, €ehel TH(Gross Profit) ¥3,36,000

freferfae & or T STuTd 1 HifsTe-

Calculate Debt Equity Ratio from the following informations.

HHAT 3 ‘Zlfﬁ(Equity Share Capital) £2,00,000, HTH H=¥(General Reserve)%1,60,000 , 10%
T 9H(10% Debentures) %1,50,000, ] adrg(Current Liabilities) ¥1,00,000, SRfeh

I (Preliminary Expenses)¥10,000

FreAfRaa & 37aR ST ST U i e S B oA IR

Calculate Debtor’s Turnover Ratio and Average Collection Ratio from the following Particulars.
EI'ITBJ%%W(Opening Debtors) ¥ 37000, sifem é:ET{(Closing Debtors)Z 43000,

farsha(Sales)%6,00,000, e forsRa(Cash Sale) 80,000

6 3fd » Agifadd YT (Theory question)

1.

forcfier foraott o fepsdyeror 3 S8z wwesy

Explain the objectives of Financial Statement Analysis.

foreir feraon 5 farsgwor S STTavehdr a1 He SaTey

Write Importance of Financial Statement Analysis.

&t forsgeoT oI e forsdwor § e samsy

Write the differences between Horizontal Analysis and Vertical Analysis.
ToTCH forciar foraror & T TR/ & T STy

What is the meaning of Comparative Financial Statement? Write its advantages.
qATCH eig § 3T STIRT 2, Fsh! STARIAT T3y

What is the meaning of Comparative Balance Sheet? Write its uses.

=TS AT T A AT I THHATSTY

Explain the Current Ratio and Liquid Ratio.

Hehel AT ST T 8 56k 339 I Hew ad1sy|
What is the Gross Profit Ratio? Write its advantages or importance.
forfrer forsdyeror 6t wfmmd T s

Clarify the limitations of Financial Statement Analysis.
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Frmferad s % o1 o v iy

Write the meaning and purpose of the following Ratios.

1) =1 3AUTd(Current Ratio)

2) 07 FHAT AJATd(Debt-Equity Ratio)

3) ftree ST{9Td(Proprietary Ratio)

4) qfﬁ Atad 3TJUTd (Capital Turnover Ratio)

5) Turft uftEufa T T (Fixed Assets Turnover Ratio)

6) UM it ST (Working Capital Ratio)

. ATETIRAT AT T forshl ST & 179 R S 2l

What do you understand by Profitability Ratio and Sales Ratio?
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11. Trehg TaTg fararor

Cash Flow Statement

4 b b AgIfAd I (Theory question)

1. Tohg JATE foraior =RIT ®, 38Heh 3239 AT YT fIray)
What is Cash Flow Statement? Write its uses.

2. Uehg JATE qAT hIY YTE H 3T T8 hHifSy)

Distinguish between Cash Flow and Fund Flow Statement.

o 3. Udhg YTE faior & s 4 AT IT Hew hl 9d18y)

Write the four importance of Cash Flow Statement.
4. Tehg YaTe foraor i €T w98 Hiferg)
Explain the limitations of Cash Flow Statement?
5. kg JaTe faawor ST 3173 foreor § 37T sq1sy)
Distinguish between Cash Flow and Income Statement.
6. UHE TS o FehTi i ferfae? \/ \
Write the types of Cash Flow.

7. afETe (@) fohansti @ Tehe vare fordl hed 82

What is Cash Flow from Operating Activities?

8. TrarT Rl & Tohe TaTE o ISV ol Soaid ShifeTy|
Give examples of Cash Flow Statement from Investment Activities.

9. foreftar fomamatl @ kg waITe W SmfeT forarmat <t =it iRty

List the activities involved in Cash Flow from Financial Activities.

N

/A
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4 3% b YT Frarenss 7% (Practical question)

1. fr=ferfaa foraon @ y=me (G=mer) & 9w Ushe Shi ToFT i -

[EE] v 2020 v 2021
Gall 15000 12000
37ed T 3000 1000
e o5 2000 2500
TR 13000 15000
Y 20225 S SATH §3T T 25000

From the following information calculate Cash Flow from Operating Activities-

particulars 2020 2021
Debtors 15000 12000
Outstanding exp. 3000 1000
Prepaid exp. 2000 2500
Creditors 13000 15000

Profit during the year 2022 is ¥ 25000

2. BT ST 31-03-2022 3T GHTE 8 aTel a9 € 50,000 3T AT ST fopam) Fifera et
o TR I G (RIS O Uohg YaTg forewor sHTsT -

foreror 31-03-2021 31-03- 2022
ik 14,000 12,000
mqies et 40,000 50,000
qEed g 2,000 3,000
37Ed T 4,000 3,000
TG ST 3,0000 35,000
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From the following information calculate Cash Flow from Operating Activities: for the year

ending 31-03-2022 Hari and Company, earued a year profit of ¥ 50000

Ly

LX)
s
(X3

+

Particulars 31-03-2021 31-03- 2022
Stock 14,000 12,000
Trade receivable 40,000 50,000
Prepaid exp. 2,000 3,000
Outstanding exp. 4,000 3,000
Trade payable 30,000 35,000

3. T 1 ST @ ST © T Uehg J4TE ohl TUMT hifsie —

fereror 31-03-2021 31-03- 2022
AT BT o forator 1 9 54,750 27,000
ST STfea 11,250 13,950
Jad oI 10,200 17,850
Uiz - 18,000
qeed 14,000 12,000
TITIER SAATY 32,000 44,000

From the following information calculate the Cash Flow from operating activities —

Particulars 31-03-2021 31-03-2022
Balance Profit & Loss statement 54,750 27,000
Trade receivable 11,250 13,950
Outstanding exp. 10,200 17,850
Patents - 18,000
Prepaid exp 14,000 12,000
Trade payable 32,000 44,000

A
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4 . T gt O Eeer fsRaret € Uehe gaTe shi o Shifsg —

(N

[EEIU] 31-03-2021 31-03-2022
T BT @t 1,20,000 1,10,000
TR 62,000 50,000
AR 42,000 24,000
qeed ST 4,000 8,000
TR 38,000 26,000
@It 76,000 80,000

From the following information calculate Cash Flow from Operating Activities:

Particulars 31-03-2021 31-03- 2022

Profit & Loss A/C 1,20,000 1,10,000

Debtors 62,000 50,000

Outstanding Rent 42,000 24,000

Prepaid Insurance 4,000 8,000

Creditors 38,000 26,000

Goodwill 76,000 80,000 \/

\

5. PRI =T § TETer § ST UhHS 3 T0HT HIT -

S=ren 2021 2022

= 60,000 50,000

ca— 25,000 23,000

- 32,000 28,000

= 3,500 4,500

ST AT 8,000 9,000

e 35,000 22,000

A I 80,000 90,000 ( \\\\\\<+
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LX)

From the following information calculate Cash Flow from Operating Activities:

Particulars 2021 2022
Stock 60,000 50,000
Debtors 25,000 23,000
Creditors 32,000 28,000
Outstanding exp. 3,500 4,500
Accrued Income 8,000 9,000
Bills payable 35,000 22,000
Profit & Loss A/C 80,000 90,000

B 6. T FEST & witarer fopensit & ohg ae shr T Hife -
’ feraror 31-03-2021 31-03-2022
AT BT %1 3T 5,000 18,000
TR 5,000 4,000
TER 2,500 2,000
BISACEE] 1,000 1,250
o fou=r 4,000 2,500
3T T 80 100
y_y ITfSTe T 600 700
.." “:.. From the following information calculate Cash Flow from Operating Activities:

Particulars 31-03-2021 31-03-2022
Balance of Profit & Loss statement 5,000 18,000
Debtors 5,000 4,000
Creditors 2,500 2,000
Bills receivable 1,000 1,250
Bills payable 4,000 2,500
Outstanding exp 80 100
Accrued Income 600 700
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/'/ 7. T At | T foraat gr ks e shi o shifery

[EE] 31-12-2021 31-12-2022
EIERIY 3,50,000 2,00,000
e 3,00,000 -
i 4,50,000 3,00,000
Lo - 75,000
HAfIRh =T -
1. fof=mT o st uw femam £ 115,000
2. 3T ¥ fIoiwTehi & SATSIT STH fohaT € 25,000
é—%.’.., 3. THa%r o w9 1 @i MU Tt & U 9 TR I TR 75,000
& From the following particulars calculate Cash Flow from Investing Activities:
Particulars 31-12-2021 31-12-2022
Investment 3,50,000 2,00,000
Goodwill 3,00,000 -
Machine 4,50,000 3,00,000
Patents - 75,000
Additional Information:
1. Interest received on investment 15,000
I*!'."-'f"-" 2. Dividend received on shares as an investment ¥25,000

3. Rent received T 75,000 from a plant which was purchased out of funds for investment

purpose and let out for commercial use

8. fmforfiaa gammett & fordtar fomamatt & Terg waTe ot TTorT hifTe -

[EE] 31-12-2015 31-12-2016
AT SIS 4,00,000 5,00,000
10% SOTo! 1,50,000 1,00,000
e s 40,000 50,000

” ATk FEAT - SROTTEIT O SATST 2T T TR 71T £10,000
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From the following information calculate Cash Flow from Financing Activities: m

Particulars 31-12-2015 31-12-2016
Equity Share Capital 4,00,000 5,00,000
10% Debenture 1,50,000 1,00,000
Securities Premium 40,000 50,000

Additional information:

Interest paid on debenture ¥ 10,000

HIT—9 (Part B)

SYcAhd dd@iD-
COMPUTERIZED ACCOUNTING

1 3% D YITi—
NEBCETS SRS forRaw  (Choose the right option)

. FATH ?
A) SifesiT 7 B) eheie \/ \
C) FHgITeAT ST D) 9 © IS Tl
Computer is a
A) Launching Machine B) Calculator
C) Controlling Device D) None of these
2. T H A ET A SR A R -
A) 1S B) fmifeHfeen
C) T D) FiTdifesh
Which of the following is not an input device —
A) Keyboard B) Magnetic disk
o7,
C) Monitor D) Floppy disk @e\\i\\\\\‘*
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A) JTTYL ITHT

C) RfthRITeAT e
Hardcopy computer is —
A) Output device

C) Powerful Computer
IS T fGHTT FEetTr & -
A)TTE]

C) Tt

It is called as Computer’s brain —

A) ALU

C) Monitor

B) T ST

D) G 3YHT

B) Input device

D) Storage device

B) Hidig.
D) 3R 3R

B) CPU

D) ROM

ST AT H ISt hl ohid ©Y AT SRIRT B -

INELTED B) Shleliel

C) BEH D) 378 & s e
Which language of computer is used in business work —

A) Basic B) Cobol

C) Fortran D) None of these
el S &

A) HTFeaT B) SREH

C) BT D) 4 ¥ 13 &
Computerised accounting is -

A) Software B) Database

C) Hardware D) None of these
e a2 | fohde T g @ —

A) 10 B) 12 C)6

How many bits are there in a bite —

A) 10 B) 12 )6
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10.

11.

12.

i a7 31ef § -

A) F5 TR 3h7S
C) hgret SITEH Thr
CPU means —

A) Central processing unit

C) Control primary unit

B) shgIct SIHTHT eT3
D) Suder & & T

B) Control processing unit

D) None of these

TYE T T3S H FTaR0T fohdreh T foram ST @ —

A) Uit
C) i

The conversion of input into output is done by -

A) Peripherals
C) Storage

TTH U I 9T AR A & -

A) °139

C) BT

Which of the following is an output device -
A) Mouse

C) Monitor
fifoRa & o 1 ST & —

A) THTH Hifhg

C) HifeX

Which of the following is hardware -
A) MS Office

C) Monitor

TISTMTE il hi STANT H AT ThaT & —
A) ISR SFFErft

C) TThsIHL

Who can access the spreadsheet —
A) Professional businessmen

C) Stock broker

100

B) 9t
D) i

B) Memory
D) CPU

B) Filueet
D) &9 GETeH $ohTS

B) Keyboard

D) Central processing unit

B) Uftherer
D) BT

B) Graphics

D) Photoshop

B) SSfifa
D) 3w @l

B) Engineer

D) All of the above
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13. U aeheiic # fohe argd aidft & -
A) 256
C) 10,48,576
How many lines are there in a worksheet —
A) 256
C) 10,48,576
14. T | foha hie 2id § —
A) 16,384
C) 216
How many columns are there in excel —

i'?':‘o.. A) 16,384

C) 216

15. ST & 77 JHAM & —
A) I
C) Afagea
What are the disadvantages of database —
A) Easy
C) Incredible

1 3 & 939 —

{‘.‘-‘" for=ifed 9gal & Scax SIS Answer in one

1. Sreflwaud 1 9 A1 sy
Write the full form of DBMS.

2. 231G Al o AW ferw)

Write the name of two output devices.
3. 3Ty HR F SF HH 87

Who is the father of modern Computer?

. 3 UH T A T 15

Write another name of RAM and ROM.
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B) 1024

D)32,000

B) 1024

D) 32000

B) 1024

D)220

B) 1024

D) 220

B) rygufera
D) ifereh Teffar

B) Vulnerable

D) More expensive

word/Sentence -
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foregt a1 UfteTeReE TR o T fTfay)

Name any two application softwares.

Ms Excel fort TTFea=R 9T T4 & ?

On which software MS Excel is based ?
TTeT o T HI T hed 87

What is collection of data called known as ?
Trevfie Y fore 3771 9 & ST STt 21

By what othername,Spreadsheet is known as.

1S hT LT H fohae T BId 22

How many levels are there in the structure of the database?

@ dgifad 939 (Theory question)

. FHFhd i JorTet! 2hl = foRIwarat 1 auf shifsrg)

Describe any four features of Computerized Accounting System.
S T %l STl T JUH hIToTy|

Describe the disadvantages of Computerized Accounting.

Aegater Ul gzl eraieR ST & st fafiy

Differentiate between Manual and Computerized Accounting procedures.
T3 =1 i fifsig

a) HFRR D EEER

Describe the following

a) Software b) Hardware

TG T ST o ST T 0 ShiTeTy|

Describe the components of an Accounting Information System.
ST SEe U 31 BTHaT b1 Ui shiferg]

Describe the disadvantages of Database Management System.
STeTeR T 379 AT §U 34k TN T Ui hifS)

Explain the meaning of Database and describe its types.

SIS TSET JUTTAT o ATHT T G0i shifsra)

Describe the advantages of Database Management System.
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9. T THET HITEITHITIT T & TEet fohel ST hl €A1 ST STTareersh 2t 82

What are the things to be considered before sourcing an Accounting Software?
10. FRF 3R Fegerer # i fafay

Differentiate between Computer and Calculator.

11. seieiten foram o= s =R fomad fafay)
Write any four features of Electronic spread sheet.
12. SEieh Gt JorTedt At =1 e ferfay
Write any four features of Accounting Information System.
13. STeTeE et OTTe! o s s feffay)
Write the functions of Database Management System.
14. Sorei-en feai o il s IR STAIfaT fTRau)

Write any four utility of Electronic spread sheet.

6 3®d & Agifdd YT (Theory question)

1. STeTsR et JUTeiTe 3779 21 Wi &, S8eh JHE SUHTUI ok 0 hifere
What do you understand by Database Management System? Describe its major tools.
2. el ST ST % e B v iy
Describe the advantages of Computerized Accounting System.
3. FPTOTeR 35 ST R e T 3 B 8 v i
How many types of computers are there according to their functionality? Describe.
4, TSR SR AFaR H X fifay
Write the difference between Hardware and Software.
5. STeTe et SOTTe! o ot ST i anEsy
Explain the various applications of Database Management System.
6. RIS o TG Hehi i GHEEY
Explain the major components of Pay Roll.
7. <t G el 5 s o i i

Describe the objectives of accounting information system.
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